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10.

11.
12.

QT
u&wmgﬁ%qwm,mwuﬁwgﬁamaﬁmmmmﬁﬁﬁwﬁaﬂ?ﬁm
w,mm@@nmmmaﬂﬁn’naﬁ:tmz’r,?hs'ém&uﬁwgﬁamﬁaaa

wifR) ,

m-mﬁ@mwﬁwgﬁawuw&n,cmnumﬁmﬁwmﬂwﬂﬁm

mqﬂwmaﬁmﬁqmmﬁmmﬁﬁﬁmm%wﬁmmm

3T FT 7 fad '
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W sifEq SO1 SR §) af omwe tw o 6 uw @ Afuw TOW W, @ 3§ TgW H

sifrg 51 ) GH TalW o) T T @ oy #ae 0@ & T T

ANE ST T T oo ¥ Ry T sw-ww W @ s w0 E sifed Iw A R @

UR T H1 I W T R |

ot v & 3 TuE g

wo® A F AT TheY e @ Al T @ wegw WU W e w1 YF H,

A AW YAU-TF ® W9 i R # SeR §9 faaw sw-ww F A T

A AT W YD B IW-TE § N0 F 9% a0 T O W HIA S-S

afes | dg 3 UE I g ThET [Raw @ 9H F A T _

T FW @ oy wE TOEw (e B o § ded €

o I o fog gue - L4
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@ W!ﬂﬂ?fmaﬂaﬁmm%!mmmmm%m,mﬁm
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G) R P eimEr T @ afuF S 3 L, D T W I AN em, qufy Ry m Iw@
§ 0% IR 9@ o &, fee o 99 T @ fo SedEgeR @, S @ w1 3s fean wm,
M’ soh fog < 3
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Rights Council fi
1. India got re-elected to the UN-.I luman i a

(A) 2nd Term

(C) 6th Term

Wqﬁmwwﬁlﬁﬂmﬁ

™
(A/{H'{l HRw
(C) a1 wdFHIe

for e

(A) Scheduled Caste

© Women
(A) 9th January

(C) 19th April

(C) 19 3w

T.B.C. : 24-SS-BC.P—C
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Pravasi Bharatiya Divas is celebrated on

(B)

(D)

(B)

D)

Shri Kishor Makwana is the Chairman (as of May,

(B)

.........

4th Term

8th Term

.......... (2022-2024) % forg fipy 3 g

S wrdEE
A et

2024) of National Commission

Scheduled Tribe

(D) Transgender

@

® T S % sy (W, 2024 Th) ¥

SR sy

(D) TESFeX

(B)

(D)

--------------------------

(B)

(D)

..................... every year (since 2003).

19th March

29th June

+ TR S R (2008 Q@) |
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As per the constitution :

Statement-1 : “Village” means a village specified by the Governor by public

Notification.

Statement-II : “Gram Sabha” means a body consisting of persons registered

in the electoral roll relating to village.

Choose the most appropriate answer from the options given below :

(A)

(B)

(©)

D)

Both Statement-I and Statement-II are correct
Both Statement-I and Statement-II are incorrect
Statement-I is correct and Statement-II is incorrect

Statement-I is incorrect and Statement-II is correct

Hfaur & TER

m::"rﬁa"aﬂaéwmammﬁﬁiaﬁwgm-ﬁﬁqnﬁ%[

T P " o o Tie ¥ wefu weeE g § usiea s @ e
T Geen ¥

1 feg ¢ fawedi § @ GaQ Iugad IW & GAE HIWQ
(A) g1 3R FuA-11 i 9E ¥

(B) w91 3R wyA-11 3 Tod §

(C) FFA-I & § IR FUA-11 T ¥

(D) ®9A-1 Tad ¢ 3R FYF-11 wE §

T.B.C. : 24-SS-BC-P—C 3 P.T.O.



5. Arrange the following in chronological order (as given in Constitution of India):
(1) Fundamental Duties
(2) Citizenship
(3) Emergency Provisions
(4)  The Panchayats
(A) ), 2), (3), (4) (B) (2), (1), (4), (3)
(€) @), (1), 2), 4) D) (4), (2), (3), (1)

Wﬁmmﬁmﬁm(ﬂmﬁwﬁﬁﬁmﬁﬁmw
®) '

1) Hfes wd=

@ i

(3) STV Fag

4) YEEd >

@) Q) @), @), (4) W @, W, @ e
© @), ), @), @ D) @), @), @), (1)

6. Consider the given four statements and choose the correct answer from the given
options. (SAARC Centres and place it is located) -

(1) SAARC Documentation Centre, New Delhl
2 SAARC Information Centre, Colombo .
(3) SAARC Energy Centre, Islamabad
@) SAARC Cultural Centre, Dhaka |
(A) (1) and (8) only (B) (2) and (3) only
(©) (1) and (2) only | (D) (2) and (4) only

ﬁqu*ﬁmﬁwaﬁfmaﬂtmﬂqﬁmﬁénﬁm
#w%mw%mm MU (SAARC

(1) SAARC worad 33, T feccht,

(2) SAARC H= %%, Fiear

(3) SAARC % 33, vwmmm

(4) SAARC et %3, g

(A) Faw (1) 3R (3) ®) P (2) 3 (3)

©) =@ (1) 3 (2) (n/ S @) ot (0
TB.C. : 24-SS-BC.P—C



7. Match List-I with List-II and choose the correct answer from the given options :

List-I
(The Commission)
(@) National Commission
for Women
() Himachal Pradesh Public
Service Commission
(¢) Union Public Service
Commission
(d) National Commission
for Scheduled Tribe

(2)

3)

(4)

List-1I
(Established)
(1)

1926

1992

1971

2004

Choose the correct answer from the options given below :

@ & ©© @
a & @O @ @2
@ 1 @ 3 (@
© @ @ @O @
™ @ & O @

-1 #1 ge-11 @ gafea i o fkg g fasedl § 4 @& Sw g

elt-1

(3
(@) T wAigen wEn
®) e W | Ja FmEm
() UY &% a1 A= -

d) T rqgfsa SAfa S

(1)
(2)

(3)

4)

geit-11
(i)
1926 \
1992
1971
2004

2 feu o fawedi § @ T IW w1 g9 i

@ & @© @@
@a @ @O @ @
B O @ 3 @
(C).f @ @ QO @
@ & O @
T.B.C. : 24-SS-BC-P—C

P.T.O.



8. Houthi rebels are based out of :

(A) Eritrea (B) Egypt
(C) Yemen (D) Djibouti
Tl fodEt wel fem € 2
(A)  sRfga (B) fw
(C) T (D) et
9. ‘The Globe and Mail’ is the most authoritative daily of :
(A) Israel - (B) Canada
(C) Ukraine (D) Russia
'T e € A e dn w1 waifye wmfes 3w TaER-TE ¥ 2
(A) TREA (B) &Aret
(©) I (D) w9
10. Which country will host the G-20 in 2024 ?
(A) Indonesia (B) Brazil
(C) Russia _ .

(D) South Africa
2024 ¥ S{i-20 # V@R FEW W FOW 2

(A) 33 (B) wisiia

(&F =1 - ) <ol st ?
11 16th World Social Forum Conference held at :

(A) Dhaka (B) Kathmandu

(C) New Delhi (D) Bangkok

1631 fava Wl w9 wdem wa s T 2

(A) T (B) eIy

©) & feeeht D) I

T.B.C. : 24-SS-BC-P—C 6



12.  What is the theme of International Women’s Day in 2024 ?
(A) Encouraging Inclusion
(B) Investing in Women’s Empowerment-Driving progress
(C) Violence against women
(D) Gender Mainstreaming
2024 ¥ g wfeen faw &1 q@ fawg w7 ¥ 2
(A) <E9RAYA ® Wiewifed HT
(B) e W ¥ Friw_yify B s TG
(C) wfeenell & faems i
D) fam =1 7o uo & A

13. Wassenaar Arrangement Secretariat is located at :

(A) Warsaw (B) Vienna
(C) Paris (D) Bern
IR Hae F giaaed fem § o
(A) =&t B) fazm
(C) W™ ' ' | (D) =

14. World Soil Day is celebrated on :
(A) December 05 (B) April 22
(C) March 22 (D) March 23
fava ga1 fRaw wman smar ® .
&) fewwR 05 (B) s 22
() #= 22 (D) #rd 22

T.B.C. : 24-SS-BC-P—C 7 _ P.T.O.



15.  Given below are two statements :
Statement-1 : Ethiopia is among China’s best friend in Africa.
Statement-II : Ethiopia is a landlocked country in Africa.

In the light of above statements, choose the most appropriate answer from the

options given below :

(A) Both Statement-I and Statement-II are correct

(B) Both Statement-I and Statement-II are incorrect

(C) Statement-I is correct and Statement-II is incorrect

D) Stat.ement—ldis incorrect and Statement-II is correct

= Fo Ry m § .
ml:sfﬂﬁmaﬁw%@vﬁiﬂ?%mwa&ﬁﬁﬁ%l

m-ﬂ::@rﬁmmﬂmhm@wm&m%.

©) FHL T ¥ IR oy e &
D) FEL T € M Fory g 3

T.B.C. : 24-SS-BC-P—C 8

-



16. Given below are two statements :
Statement-I : Norway is not a EFTA member state.
Statement-II : Puntland is an autonomous part of Ethiopia.

In the light of above statements, choose the most appropriate answer from the

options given below :
(A) Both Statement-I and Statement-II are correct
(B) Both Statement-I and Statement-II are incorrect
(C) Statement-I is correct and Sltatement-II is incorrect
(D) Statement-I is incorrect and Statement-II is corref-:t'
LIk ﬂ %y Ry 7w € .

'mlzﬂﬁé- TE. A T F T 20 T4 2B

| FYA-II : YIS 3Ofq 1 U WHEW -9 R
mﬁﬁwmﬁmmwﬁ%msﬁmmmwﬁfm:
(A) FE-I R Fo-11 3w/ §
(B) FL ok %m-n qH e €
(C) FL TG ¥ AT FA-AI e g

D) FI9-1 ToE § R w1 99 ¥
T.B.C. : 24-S8-BC-P—C 9 P.T.0.



: under China-
17. Arrange the following power projects of Pakistan from north to south
Pakistan Economic Corridor :

(1) Tharparkar
(2)  Bahawalpur
(3)  Sahiwal

4)  Karot

Choose the correct answer from the options given below :
(A) (1), (2), (3), (4) (B) (4), (3), (2), (1)
@ ), (3),2), 4) D (2), 4), (1), (3)

w-mmmammﬁmwmﬁaﬁm
ﬂzﬁmaﬁaﬂtmaﬁm:

(1) IR
(2) SEEER
@) uEE
4) R
T RU M el 3§ ¥ v s ow g i
A ), (), 3), @) (B) @), (3), (2), (1)
©) ), 3), @), 4 D (@), 4), 1), (3)
18.  Arrange the following in chronological order since enforcement :
(1) Cartagena Protocol

(2) Convention on Biological Diversity

(3) Paris Agreement
(4) Nagoya Protocol

Choose the correct answer from the options given below :

Aa) ), @), @), @) B) (2), (1), (4), (3)
©) @, ), ®), 1) D) (1), 3), ), (4)
mﬁm%mﬂmmﬁmwz
(1) wrRA Ry '
(2) Sa-fafava w sy
(3) I wuEhar
(4) =riE WeETE
ﬁﬁqwﬁmﬁﬁva%mwwaﬁﬁrq: |
4) (1), (2), 3), (4) (B) (2), 1), @), (3

- (©) @, 3), @), () D (1), ®), (@), @

- T.B.C. ; 24-SS-BC-P—C - 10



19.

Consider the following statements :
(1) Mount Merapi, the most active volcano recently erupted in Japan.

(2) ‘Water and Heritage Shield’ has been awarded to Sipapu dome located in

Arizona, USA.
(3) Honiara is a key port in the West Indies Islands.

(4) Solomon islands has become a focal point in the diplomatic tussle between
China and USA.

Choose the correct answer from the options given below :

(A) (1) and (2) only (B) (3) and (4) only

(C) (1) and (4) only - (D) (2) and (4) only

Frafafaa w9 W faEr aﬁﬁm{ :

(1) 9 1 999 Gfedg SoengeEt Ja8e audt s @ " wer|

(2) orAfE & TS ¥ fegg faurg €M =) ‘T g ¥R vies’ @ Famn T v

@) PafrEm, S dv T § o e s ¥

(4) Wewa giu, 99 iR Afieet & Ay FEAifas @ud @1 sfag W9 T ¥

R ke ¢ fawed § A @ W w1 gAE wifEQ

(A Fa@ (1) 3R (2) BY F=m (3) 3k (@)

(C) =aa (1) 3k 1) (D) whad (2) iR 4)

T.B.C. : 24-SS-BC-P—C 11 P.T.O.



20. Consider the following statements :
(1) Yuddhabhyas is a joint military exercise between India and China.
(2) Tawang sector is a North-Western region of Arunachal Pradesh.

\
(3) India and China troops clashed along the yellow river in Tawang sector

in Arunacha[ Pradesh.

(4) China has constructed several dams on Tsangpo and can use water as a |

geo-strategic weapon.
Choose the correct answer from the options given below :
(A) (2) and (4) only (B) (1) and (2) only

(C) (3) and (4) only (D) (1) and (3) only
frafafes w9t w e #ifsg .

(1)”@%%%%"%,%%%%%%
(2) &M ¥R IS WRW FOIW-IR A )
3) Wmﬁmﬂmﬁmﬁﬁﬁmﬁmaﬂiaﬁ?%mm

¥ fug M ,
Maﬁ%mﬁmmﬁaﬁm%aﬁ‘naﬁmﬁaﬂa—mﬂmmaw
% TR 9w E
ﬁmwmﬁﬁﬁ@mmwﬁm:
(A)/?ﬁa (2) AR @) . h)/%aa (1) 3r (2)
(© " 3) R @) @) 9 (1) sk (3)

T.B.C. : 24-SS-BC-P—C 12



21.

Match List-I with List-II :

List-II

List-I
(Name of Bank) (Headquarters)
(@) Asia Infrastructure (i) Manila

(d)

(c)
(d)

Investment Bank
Asian Development (iz) Shanghai
Bank

New Development Bank

JP Morgan Chase Bank

(iii) New York
(iv) Beijing

Choose the correct answer from the options given below :

(@ B @ @

A @ @) G G
B) () @) @ @
@ @) G @) )
D) G Gv) G )
get-1 1 ga-11 8 frem st

it - g1
(X w1 W) - (FETeE)
ufyrné srecE faw S (&) e

(@)

) R fawm 5% - () YR
© g Saaue §% (iii) =T
(@ JP. T =T dF (jv) Sfs

ﬁ%ﬁqwﬁﬁﬁﬁﬁﬂﬁmm?ﬂaaﬁm:

(@ ®) @ @

A & @ G @)
B) Gv) @) @) @
©€) G @ @ @)

D)

@ Gv @) @)

TB.C. : 24-SS-BC-P—C 13

P.T.O.



22. Match List-I with Lipt-II :

List-I List-II
(Space Mission) (Target)
(@) JUICE () Mars
() MAVEN (¢2) Mercury
(¢ MESSENGER (¢)) Moon
(d) ARTEMIS (iv) Jupiter
Choose the correct answer from the options given below :
@ ®) @© (@
A) @) @) @) @)
B) @ G @) G
© @) G @) 6
M @ @ 6 Gi)
-1 %1 gei-11 A frem Fifvm
SCio S G-I
(@w favr) (emite)
) @
®) & @) 99
() A (i) =g
@) anféfag

/ @ @ © @
& @ O @ @

B) 6 @ G G
© @ G G)
D @ G 6 G
TBC. : 24-88-BCP—C 14



23.

24.

The annual meeting of the World Economic Forum (2024) was held .

(A) Davos (B) Zurich

(Q) Basel (D) Lausanne

fova anfes wa = aiffs dow (2024) gl amafad #t 7 2
(A) OW (B) Yf@

(E')/ﬂuﬂ (D) @A

Arrange the following countries in succession of hosting years of G-20 :
(1) India

(2) Indonesia

(3) South Africa

(4) Brazil

Choose the correct answer ﬁ-om the options gi.ven"i):elow :
(A) (1), (2), (3), (4 | (B) (4), (3), (2), (1)

©) (@), 1), 4), 3 | D) (2), (3), (4), (1)
“i-20 # A & Al F wH § Frefafe W B AR

(1) 9w
(2 A

(3) <ot s !

4) EIni

2 fky T fawed § ¥ 9 W F T RIVC ¢

@A) (1), @), 3), @) (B) (4), (3), (2), &(11
© @), (1),.4), (3) M 3, @), (1

T.B.C. : 24-SS-BC-P—C 15 P.T.O.



25.  Given below are two statements : |
Statement-I : Shinku-La tunnel will be completed by December, 2030.
Statement-1I : Shinku-La tunnel will help in the movement of security forces
in Sikkim.
In the light of above statements, choose the most appropriate answer from the
options given below :
(A) Both Statement-I and Statement-II are correct
(B) Both Statement-I and Statement-II are incorrect
(C) Statement-I is correct and Statement-II is incorrect
(D) Statement-I is incorrect and Statement-II is correct
&eA-1 : - g fewmr 2030 9% seR $UR R STl
MH:ﬁiﬁ_—wgfnﬁﬁﬁqﬁgxmaﬁi-aﬁmﬁmml
mﬂ%@amﬁi%mwﬁ%ﬁqmmﬁﬁﬂmaﬁammwm:
(A), ®F1 R FoA-11 A w F
(B) FYA-I AR FYA-II S o §
(C) %A1 9 ¥ 3R FuA-11 o ¥
D) =1 Tea € ol w11 wd ¥

26. Karewas in Kashmir valley are known for :

(A) Deodar (B) Blue pine
(C) Juniper (D) Cinchona
FYR T F W R oy e .

(A) TEER ®f = T
(C) ®wgw (IFW) D) fe=rm

T.B.C. : 24-SS-BC-P—C 16



27. Lower Ganga Canal takes off from :
(A) Kankhal (Haridwar) (B) Narora (Bulandshahar)
(C) Hathni Kund (Yamuna Nagar) (I)) Okhla (New Delhi)
fraet T TR R ®
(A) FEe (ERER) (B) T (A=)
(D/B‘Fﬁ S (ITR) (D) i@, (F faeeh)
28.  Scattered settlements are commonly found in :
(A) Bhangar (B) Khadar
(C) Duars D) Bha!}ar
ST R el g afeE we W o E 2
(A) 9 # (B) ®rET #
(©) s ¥ ‘ (D) &R #
29.  Which of the following languages of India does not pertain to Austric languages ?
(A) Santhali (B) Mundari
(C) Korwa (D) Bugheli
frefafen s st #§ @ S o sfgs wwel § Watm T@ ¥ 2
(A) wereh B) Tl
©f wra D) el
30. What was the density of population in India in the year 1951 ?
(A) 117 persons/km?® (B) 103 persons/km?
(C) 142 persons/km? (D) 325 persons/km?
1951 # WRa § wAEET F TS o ?
(A) 117 =fw/ent fe. (B) 103 =afe/amt fait.
(&) 142 =t/ fh (D) 325 /e foeh
T.B.C. : 24-SS-BC-P—C 17 P.T.O.



: . 200 cm of
31. How much percentage of the total land area of India receives above

rainfall ?

(A) 20 percent (B) 24 percent

(C) 11 percent (D) 15 percent

W F /A R B RRA uRww WM 200 ¥ @ sfuw a9 W ww § 2

(A) 20 vt (B) 24 wfawm
(C) 11 wiawm D) 15 v
32. Blinding storms are not common in :
(A) Rajasthan .(B)- Himachal Pradesh
(C) Haryana (D) Punjab
ﬁwﬁmﬁtmmﬁ@mﬁuwmmqﬁ% ?
(A) TN (B) femwe wRy
(©) wfamm (D) e ..
33. Wind blown unproductive material is called ag :
(A) Kankars (B) Loess
(C) Regur I(D) Kallar
T # T3 T s v w2
X) F (B) <«rm
() ¥ (D) *TR

T.B.C:: 24-SS-BC-P—C 18



34.

35.

36.

37.

Which of the following passes does not provide a passage between India and

Myanmar ?

(A) Hpungan Pass (B) Chaukan Pass
(C) Dihang Pass (D) Yonggyap Pass
frefafan & @ W < wra ol o & 9 ot wE @ oFw E 2
(A) T U (B) ¥ T

() feam < (D) g g
Central Poultry Performance Testing Centre is located at :
(A) Gurugram (B) Chandigarh

(C) Mumbai (D) Bengaluru

s, FE Y e @ fem ¥

(a/ T 3§ ~ (B) W0 #

(C) 73 ¥ (D) TeTe A
Dalli-Rajhara range of iron ore resefv;as ié located in :

(A) Jharkhand (B) Chhattisgarh

(C) Karnataka (D) Odisha

dig oraEs WER it geen-Uaed Avit feum ¥

() s § B) T i

(bfrﬁaﬂv‘ Ll (brém §

Aliabet is famous for the production of :

(A) Coal (B) Iron ore
(C) Mineral oil (D) Mica
aferarae fmen St & fo wfeg ® 2

(Pr)-/ el - (B) W s
(C) @fs oa D) 3vF

T.B.C. : 24-SS-BC-P—C 19 : P.T.O..



38.  Given below are two statements :
Statement-I : A dependable source of uranium occurs in the monazite sands
deposited along the coast in Kerala.
Statement-II : Uranium occurs in the form of pegmatites in Rajasthan.

In the light of above statements, choose the most appropriate answer from the

options given below :

(A) Both statement I and Statement II are correct

(B) Both Statement I and Statement IT are incorrect

(C) Statement I is correct and Statement II :is incorrect \

(D) Statement I is incorrect and Statement II is correct

TR Fy o oMo § . ‘

W-I.:zﬁﬁﬂﬁﬁ@ ﬂﬂﬁﬁamaﬂaﬁ-uﬁm%mﬂmﬁmh%l
U1 : nwﬁqtﬁm%ﬁzrs{q%mﬁém%l .

mmﬁ#mmﬁ%mWﬁWﬁ%maﬁmwwwaﬁﬁq;
(&) T I &R w0 A W |

(B) &97 I 3R we[ II 9 wea &
(C) a1 I v & 3R wu9 11 7om 2

D) %97 1 T ¥ R %y 11 wd &

T.B.C. : 24-SS-BC-P—C 20



39.

Arrange the following rivers of India from west to east :
(1) Damodar River

(2) Betwa River

(3) Luni River

(4) Son River

Choose the correct answer from the options given below :

A) (2), (1), 4), (3) (B) 4), 3), (1), (2)
©) ), @), @), 3) D) 3), 2), 4), (1
wrRa ®t Frafafen A fcdl = ofiam @ o feon 4 sgafuga sifew .
(1) T =

2) ST T

(3) < R

4) W T

9 four o fawedi § W W F gAE HWC

A @), 1), @, @ _ B) @), 3), 1), 2
© @, @2, @, 3 D 3), (2), 4), (1)

Consider the following statements :

(1) Magnetite is known as black ore

(2) Siderite is known as iron carbonate

(83) Odisha produces over 75 percent iron ore of India

(4) Limonite is the most important iron ore available in India
Choose the correct answer from the options given below :

(A) (3) and (4) only (B) (2) and (4) only

(C) (1) and (3) only (D) (1) and (2) only
frefafes s W fGEr Fia . '

(1) e N FA NG *F T F AWM A R

2) fadtge # <l FEe & §9 d S W

@y 3ifew ura #1 75 whwa @ AU d IEE F IERA W@ ¥
@ forirme wre § Svoey Wed AR AR o R

R Ry g fowedt #§ @ §f IW w1 T FGE

(&) e (3) 3R (4) (B) Faw (2) 3R (@)

©F F== (1) iR (3) D) Faa (1) 3R (2)

T.B.C. : 24-SS-BC-P—C 21 P.T.O.



41. Match List-I with List-II :

List-I List-II
(Pass) (State/UT)
@ Mana La () Himachal Pradesh -
() Shipki La (i) Sikkim
(¢) Nathu La (iii) Uttarakhand
(d) Thang La (iv) Ladakh
Choose the correct answer from the options given below :
@ @ @© @
A) G) @& @D Gv)
B) @ @ @ G
© G) Gi) & Go)
M G @G @) Go)
-1 &1 G-I / faam iR -
qei-1 Eit-11
(=) (TS w3
(@) = @) femee wRw
@) fr e i) fafrm
) Y = @) SWEs
(d) g9m T (v) o™
e T T fawedi § @ w@ SR w1 g wifey .
@ @) @ @
A @ @ G Gw
B G @ @) G
(©) @G @) @ (Gv)
O 6 @ G G

TB.C. : 24-SS-BC-P—C
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43.

45.

What is the recurrence interval of drought in Western Rajasthan ?

(A) Once in 15 years (B) Once in 10 years
(C) Once in 5 years (D) Once in 2.5 years
et T d g8 R RN # ooty R 2

&) 15 78 # w (B) 10 7 ¥ wF @W
€ 599 d & ar | (D) 25 &8 # TF &N
Which of the following states of India has the highest area under ravines ?
(A) Madhya Pradesh (B) Rajasthan

(C) Uttar Pradesh (D) Gujarat

frafefed § ¥ wa & fem T 3 gl &1 dawd waifes ¥ 2
(A) W ¥ (Bf TSRUE

(C) IW %W (D) T

Which of the following civilizations was destructed by tsunamis ?

(A) Ancient Egypt Civilization (B) Mesopotamia Civilization -

(C) Minon Civilization (D) Chinese Civilization

frefafem § ¥ S Ta T R w@W S R ?

(&Y s wea (B) AHmfma g

(© e wo | ©) < e

When tidal waves dash along the coast and cause heavy damage to soil is called
as :

(A) Badland topography (B) Sheet erosion

(C) Sea erosion (D) Chos erosion

W9 SR F oel q¢ 4 Hual & R gl | 9 Teem wden €, df 39 whew
1 FF I € ?

A) e e (B) WEER 3WEA
(C)/ugz'tawm (D) =t I

TB.C. : 24-SS-BC-P—C 23 P.T.O.



46. Which of the following is not a man-made disaster ?

(A) Water pollution (B) Dam failure
(C) Drought (D) Smoking
frefafas 4 @ st wma fifife amoer =48 & 2

(A) 1§ wEEw (B) g @1 g
Q W (D) YHuH

47.  Arrange the following disasters in chronological order :
(1) Leh Cloudburst
(2) Uttarakhand disastqr
(3) Kashmir floods
(4) Mumbai floods
Choose the correct answer ﬁom the options given below :
(A) @), (1), @), @3 | B) 1), @, @), ©2
© @, @, W, @3 D @, @), @, @)
ﬁ%@amﬁﬁ%ﬁ%mﬁﬁﬁmﬁm:
1) ' SR e
(2) 3ITEE ayer - ol

3) FR #t T

4) 7=+t W

N RY M el § ¥ @ s F YA Hif

A @, @O, @, @ ®f 1), @, @ @)
© @, @, a), @ D @, @, @) g

T.B.C!: 24-SS-BC.P—C ' 24



48. Consider the following statements -

(1) Chennai had a series of extreme precipitation events in 2013

(2)  Flood forecasting in India was started in 1958

(3) Mumbai witnessed an unprecedented 944 mm rainfall on July 26-27, 2005
(4) The intensity of rainfall in India is likely to increase by 5-10 cm per day
Choose the correct answer from the options given below :

(A) (1) and (2) only (B) (2) and (3) only

(C) (3) and (4) only (D) (2) and (4) only

frefafe wudi ® faar =ifwd .

(1) == 4 a4 2013 # %7 ¥ safys awl # weand g

(2) 9Rd H =g * qEiga 1958 # {& few ™

(3) T H 26-27 TS, 2005 H Maqd 944 faedt. anf T W

(4) Y@ ¥ auf &t g 5-10 I wfafed s@q F e 2

—_—

4 Ru g e § ¥ 9 W F g HR

(A) FFa (1) 3R (2) (B) aa (2) 3R (8)
©) Faa (3) 3Rk @) (b{ Faa (2) 3R @)

T.B.C. : 24-SS-BC-P—C 25 , -P.T.O.



49. Match List-I with List-II :

List-I List-IF
(Landslide Process) (Cause)
(@) Permeability ~ () Man-made causes
(b) Scour (ii) Morphological causes
(c) Thawing (iii) Ground causes
(d) | Excavation (iv) Physical causes

Choose the correct answer from the options given below :
@ @) @ @ |

(A @) Gv) @) )

B) @) G @O @

C) @) @) @) @)

D) @ ) @ )

-1 1 QI frem 2R

Et-1 geit-1I
(Speae wferan) (o)
(@ = G) wHE-fafifa o
(b) @ =EY | | (if) STHTEE RO
) fomem (i) A R
d) =T | (iv) Hfiw mm

ﬁ%ﬁﬁwﬁ%ﬁﬁ@raﬁmmwﬁm:
@ ® © @
A) & G G) G
B) Git) Gv) G) @)
Cy Gi) G) ) G
D G G 6 (o)
T.B.C! : 24-SS-BC-P—C 26
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52.

In which year the Faster Adoption and Manufacturing of Electric (and Hybrid)

Vehicles (FAME) scheme was started in India ?
(A) 2015 (B) 2016
@ 2017 (D) 2018

WRA # R Teler U H=haafin aitw seifsed (U3 @sfas) #ea (FAME) 4
g ad & +t W ot ?

(A) 2015 (B) 2016

) 2017 2018

Who was the Chairman of the Standing Committee on Labour, Textiles and Skill
Development which presented its report on ‘National Policy on Child Labour—
An Assessment’ on December 20, 2023 ?

(A) Jagdish Bhagwati (B) Bhartruhari Mahtab

(C) Arvind Pangaria (D) Kaushik Basu

g1, HIS1 AR Hrea fowm ® Rt afifa & swa w7 9, 5 20 v, 2023
F A g W T AfG—TF Fed’ W AT A wga w2

(A) SR el (B) uqsR Hea™

(C) orfag gufean (D) HIF a9

What percentage of its crude oil consumption India imported in 2022-23 ?
(A) 57 percent (B) 67 percent

(C) 87 percent (D) 77 percent

2022-23 ¥ WRd A AN @ w1 fham wfowa we A9 W fw 2

(4) 57 s ot 67 st

(C) 87 v (D) 77 wfava

T.B.C. : 24-SS-BC-P—C 27 P.T.O.



93.

54.

i ?
: . India !
Which of the following pesticides has largest market ghare 11t

(A) Insecticides (B) Fungitides
(C) Herbicides (D) Bio-pesticides
focderd € 7
frafafas ¥  fFa Fleos # e § g 7 TER
A) AW (B) FHaemrei
(@) AT (D) JF-HIEAH

What is the contribution of Gulf Cooperation Council (GCC) countries to India’s

total trade ?

(A) One-fifth (B) One-sixth

(C) One-seventh (D) One-eighth

A & T AR wE wedm e (SE) 2 w1 dmem feen ¥ 7
(A) T=-ul=al (B) TF-®d

(C) UT=-dal D) TH-3TeAl

Which is India’s largest trading port by volume of cargo handled ?

(A) Mumbai Port (B) Chennai:Port |

(C) Kandla Port (D) Visakhapatnam Port
Wgﬂﬁﬁmﬁmﬁwmmwm_mm% ?
(A) Hag SR - (B) == WeUTE

(C) Fieem sgUME . (p/ faymerTeTm squmE

Which of the following is the highest decision-making body in India for monetary
policy ?

(A) Finance Ministry

(B) Reserve Bank of India

(C) Ministry of Commerce and Industry

(D) Planning Commission
mﬁawwﬁmmammmmwmg )
(p/) foa "™

- (B) 9 fod &

(C) g iR IEM T
(D) A IR

T.B.C. : 24-SS-BC-P—C 28



57. Which Indian state is known as the “Rice Bowl of India” ?

(A) Punjab (B) Uttar Pradesh
(C) Kerala (D) Andhra Pradesh
fFg wlg T ® A F E H FAT Hel w2
() T BY W W

(C) (D) Y Weu

58. The term “Liquidity Trap,” often discussed in macroeconomic theory, refers to
a situation where :

(A) There is excessive liquidity in the market leading to inflation

(B) Interest rates are too low to stimulate borrowing and spending

(C) Financial institutions face a shortage of liquidity

(D) The central bank has lost control over monetary policy

“ e e v, fras sE anfde fagia # SRR == #1 I 8, T W feafd
I geifa &t & @l :

(A) 9NR ¥ rafes worm ¢ e gEeta S8 W@ ¥

(B) WHR o 3l =+ # Wewfed %7 & fau =9 X 9gd F9 ¥

() fadta Gegr # qlc@ H HH H FEA FEA IS €

D) o F% 3 dtw it w frow @ G @

59. Which of the following is not a component of the Human Development Index
(HDI) as calculated by the United Nations Development Programme (UNDP) ?
(A) Life expectancy at birth
(B) Gross national income (GNI) per capita
(C) Education index
(D) Employment rate
mem(%@ﬁ)mméﬁmﬁﬂﬁf@ﬁﬁﬁﬁﬂww
faom gEwE (TISITE) H S T 8 2
(A) ¥ & GHA e JER

wfm WHd T o (STTHSTE)
fagn guws
D) I
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61.

The “Repo Rate” in India refers to the rate at which :
ank of India (RBD)

(A) Commercial banks borrow from the Reserve B
(B) Commercial banks lend to the Reserve Bank of In

(C) Reserve Bank of India (RBI) lends to the government

(D) Reserve Bank of India (RBI) lends to forelgn central banks
TRa # W R W W AN gehifa s & g |
@Y At S e fod @5 (weord) @ TR A €
(B) afufes S wndla fod §% (aaftan?) 'aﬁ_'ﬁméﬁ‘%
©) vl o 3% (swefen) &R #1 %O I ¢

@) e fod S (smeEto) favett da o B w8

The “Fiscal Responsibility and Budget Management (FRBM) Act” in India

aims to :

(A) Control inflation through fiscal policy

(B) Ensure transpareﬁcy In government expenditure

(C) Limit the government’s fiscal deficit

(D) Promote foreign direct investment (FDI)
wﬁ“wﬂamﬁa#ﬂmwm (TFTETT)  afuferm” SRR
(A) wﬁsﬁaﬁrﬁra‘amﬁm:ﬁﬁqﬁaqﬁ

(B) &R =g § grgfyfar ghv=a =t

(C) &R & sty w2 5 difid =%

(D) s foeeft fam (wwdtend) =1 w@m@r 3

B.C! | 24-SS-BC-P—C 30



62. Given below are two statements :

Statement-l : India’s Current. Account Deficit (CAD) has narrowed to 1.9% of

GDP in fiscal 2023

Statement-II : Foreign exchange reserves have nearly doubled to US $568 billion

in fiscal 2023.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is co-rrect and Stétement IT is incorrect
(D) Statement I is incorrect and Statement II is correct
2§ wgq g M ¥ -

#eA-1 : fow 99 2023 § wRa &1 9] @A 9@ (CAD) e |ie] 39 1 1.9%
a% difa & T B

FIA-11 ; faw oo 2023 & fRyft g1 Wer @ A A 568 fafea @it Ster
A T R

Tud F F MR W A Ry Ty fed § & welfuw SugE S B 99 I
() Fm 1 3R Fo I 6 @@

(B) Fud I 3ik Fgd 11 3 o €

(Cr Fo [ w@ § ot e 11 oW ®

D) wxm%aﬂzmuaﬁr%
TB.C. : 24-SS-BC-P—C 31 P.T.O.



63.

T.B.C.

Arrange the following schemes in ascending order as per the y¢

were launched :

(1) Rural Landless Employment Guarantee Programme

(2)  Integrated Rural Development Programme

(3) Swarnjayanti Gram Swarozgar Yojana

(4)  Jawahar Rozgar Yojana

Choose the correct answer from the options given below :

A (1), @), @), @ (B) (2), (1), @), g;

©) @), @), 3), Q) D) 3), (), @),
ﬁﬂﬁf@amﬁﬁmaﬁ%mmmﬁmﬁﬁﬁﬁmﬁ?
AL | B

(1) v YiFdR IR TR Sy

(2) UwiFa undv fawwm sEEy

(3) woisEd UH WIS A

(4) VER IR G

fer m fawed § Q@ 9@ SR W v @i

A) 1), @), 3), @ B) @), 1), @, 3

©) @), @), ), (1) @3, @, @, @

Consider the following statements :

(1) Historically, nominal GDP growth rate has been lower than interest rates

(2) Outstanding liabilities of the general government are estlmated to be 66.5%
in 2022-23

(3) In 2022-23, GDP is estimated to grow at 7% in real terms

(4) In 2022-23, inflationary expectations of businesses and households have
‘ moderated.

Choose the correct statements from the options given below -
(A) (1) and (3) only (B) (2) and (3) only

(C) (1) and (2) only (D) (3) and (4) only
frefafed w9t W faar 93

(2) 2022-23 & W WER T wHEn il 66.5% ¥ W rEm
3) 2022—23ﬁ@h'eﬂtﬁamﬁmmé7%aﬁma3m% ¢

(4) 202223ﬂwawaﬂ1wﬁmﬁﬁmﬁﬁﬁtﬁm
Wﬁmﬁﬁﬂﬁaﬁmwﬁﬁm ey

=2 K¢
A&y FEa (1) 3R 3) (B) ¥ (2) sy 3)
(© e (1) 3R (@) (D) 5 (3) 3ir (4)
. 24-SS-BC-P—C 32



65. Match List-I with List-1I -

List-1 List-II

(Act/Organization) (Promulgated year)

(@) Foreign Exchange Regulation Act (@) 1973

(b) Foreign Exchange Management Act (i) 1999

©) WTO () 2002

(d) Competition Act _ (v) 1995

Choose the correct answer from the options given below :
@ & ©© @@

A) G @) @ Gv)

B) @ @ @ v

C) @& @ (v @)

M @ @ @ D)

gal-1 &t g=-11 & §ig gafaa s .

i S -1

(e /me) ' (werfta o)

(@ TR gz fafmmm afufem . @) 1973

®) TR g1y afufma (i) 1999

) fava =R 9 - \iii) 2002

@) Wil sifufam NMv) 1995

A R Tu famedl § ¥ W IR F wEA WG
@ W © @@
(A Gu) @) @ . Go)
M@ @) @) @ G
© G G G G
M @ & @ )
T.B.C. : 24-SS-BC-P—C 33
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66. Power of the Supreme Court of India to decide disputes
States falls in which category ?

isdiction
(A) Original Jurisdiction (B) Appellate Jurisdi

" sadiction
(C) Advisory Jurisdiction (D) Constitutional Jurs

' fra i §
T weter e R s @ T % men faadt % faoia #1 e

et ® 27 ‘ '
(A) WRSE/gE =ArafusR (B) ardieitg =mafusR
(C) TomsHRl =rafaesr (D) wifgenfar =ArATERR
67. Who was the Chairman of First Backward Classes Commission ?
(A) Babu Jagjivan Ram (B) Kaka Kalelkar
(C) B.P. Mandal (D) Hansraj Gangaram Ahir
A fyser ot omam & enmy ®F g ? ‘
(A) <19 SiteT ™ - (By I HITART
(€) st quew (D) TS TIRW 37ER

68. Power to increase the number of Judges in the Supreﬁle Court is vested in

whom ? :
(A) President of India
(B) Parliament
(C) Chief Justice o.f Supreme Court of India
(D) Law Commission
aﬁamﬁq%Waﬁ@ﬁa@ﬁﬁaﬁmﬁmﬁqﬁﬁfgﬂ% )
(A) 9RE & Tufy . '
(B) T |
(C) TG & e e & e =
fafy smam

T.B.C.": 24-SS-BC-P—C 34
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70.

With reference to Indian Polity, which statement is correct ?

(A) NITI Aayog is accountable to Parliament

(B) President can issue ordinance only when either of two houses of Parliament

1s not in session

©)
D)

Minimum age for appointment of judge in Supreme Court is 40 years

National Development Council is constituted with Union Finance Minister

and all Chief Ministers.
yRetE Tt ¥ = § s s @ € 2
(M%ﬁmﬁfwﬁm#nﬁrm@%
BY" Tl wemRy wi W W TEM & oW WEE F < WA F ¥ A R wed
F1 AR T B W R

(C) *wered = & w9 Wt Frgfe ¥ 40 9 =1 Iy ¥ =fen
Dy < fawm ofog § g fac @t 9o off T & g w5 AW €
Which one of the following Articles ﬁf Indian Constitution says that executive

—

power of the state shall be so exercised as not to impede or prejudice the exercise

of the executive power of the union ?

(A) Article 257 (B) Article 258
(C) Article 356 (D) Article 356

frefafea # 9 wRda Sfaum =1 S TT=K 98 Feal ¢ i T0s T %1 SEafas
mmmwmﬁmmﬁmmmﬁmﬁﬁmw

_ﬁmwmﬁuﬁa@umﬁﬁ ?

T.B.C.

(A) FT=R-257 (B) HT=R-258
(C) F=xR-355’ (D) 3T=R-3567
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71.  When a bill is referred to a joint sitting of both the houses of

has to be passed with what kind of majority ?
(A) A simple majority of members present and voting
(B) Three-fourth majority of members present and voting
(C) Two-third majority of members present e;.nd voting
(D) Absolute majority of the house
TR F A A F wgw v § fra feg weR % wgad @ WRG o € 2
(A) 3URd 9 ST T 9 W&l % WIURY SgHa gRI
B) IUfm T A TR AN TEE F dH-erd wgE g
(o/amammméaad%a’t-ﬁmiawm
(D) ¥ & I 5§ gR b
72. Purpose of adjournmeﬁt motion in Indian Parliament stands for ‘_wh.;.zt ?
(A) To allow discussion on a matter of urgent pﬁblic intérest
(B) To let opposi_tion_membér collect informations from ministers

(C) To allow reduction of specific amount in demand for grants

(D) To postpone the proceedings to check the inappropriate behawour on the

part of some members.
mmwﬁwmmwm@m%7

(A) ﬁsﬁmwmﬁa%@wmm

(B) mm%mmmﬁmmm

(©) aEm ¥ faftre ufn =Y =9 FEm
Mwm&mmmwmmaﬁmm

T.B.C. : 24-SS-BC-P—C 36
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74.

75.

Indian parliamentary system is different from British parliamentary system on
which court ?

(A) It has both real and nominal executive
(B) It is based on system of collective responsibility
(C) It has bi-cameral legislation
(D) It has system of Judicial Review
yle Wt woTet St wwet wonet ¥ fFR wRw = ' 2
(A) T AR @ aRafa® M st o
(B) qfew SWEIdE Faw W G §
(G)}';;' fg-weia faumaved W anuif@ ®
(D) TEY =afys qAfiiew #t saw ¢
The ideal of ‘welfare state’ in the Indian Constitution is enshrined in which part ?
(A) Directive Principles of State Policy
(B) Fundamental Rights
(C) Fundamental Duties
(D) Preamble
urda dfaum % feg wm # ‘wedue TN # ey fifed ® 2
A) T F Hfifa Ry fagm
(B) wifes tfysr
(© FuA
) FEE
Which one of the schedule of the Indian Constitution lists the names of states
and specifies their territories ?

(A) Fourth (B) Third

(C) Second (D) First
'qﬁ;ﬁﬁmﬁﬁﬂﬁaﬁﬁnﬂﬁﬁ@qﬁmmmwm
T e ?

(A) g4 (B) T

€) fei= O g%

T.B.C. : 24-8S-BC-P—C 37 P.T.O



76 .Which one of the following objectives is not embodied in the Preamble of the
Indian Constitution ?

(A) Liberty of expression (B) Liberty of belief

(C) Economic liberty (D) Liberty of thought

gyRdtg |hwE %1 weE § frefafea Stedt 8§ @ S aafase @ § 2
A) sfvfm &t @[ (B) & H1 &A=

(C) onfds w@aa (D) 9f& o=

Ti. Given below are two statements :

Statement-I : The disqualification criteria for a Member of Parliament and g
Member of Legislative Assembly are laid down in Articles 102 and 191 of the
Indian Constitution respectively. -

Statement-II : As per latest provisions of defection law enables a party to merger

with another party if at least one-t'hirds of the 'legislators of the party are in
favour of such a merger. :

In the light of the above statements, choose the most appropriate answer from
the options given below : ] ' :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

D) .Stat.gment I is incorrect and Statement II ig correct

(B) 'wl'amamnwmg
«0) T IR E IR w1 g
D) Wlwgmmnw%

T.B.C. : 24-SS-BC-P—C o
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79.

Given below are two statements :

Statement-I : Public Accounts Committee is the oldest parliamentary committee.

Statement-II : Public Accounts Committee, Estimates Committee and Committee
on Public Undertaking are all Financial Committees of Indian Parliament.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
i A FyA g @ F

wUA-1 : A% o@ a9l gEg # geg WEH |fEfa ®)

FHA-II : A% oRET Giafd, Yeeead Gfafd T e SUHY 9fafd WRdE €98 & 9

fa<ita wfufaal €1

IJffafad w9l & R W A Ky T fawed § ¥ wod e SR w1 gAE @iy

(A) &9 I 3R FeF II <1 9 §
B) %99 1 3R H¥7 I Fl Tea &
C) F97 1 T8 € 3R weA II Tom ¥
D) F7 1 Te@ § 3R wew 11w ®

Put the formation of the following states in chronological order :

(1) Jharkhand

(2) Haryana

(3) Uttarakhand

(4) Chhattisgarh

Choose the correct answer from the options given below :

A) @), @), 3), 4 (B) @), @), 4), 1)
< @), @, 2), 3 | D 2), @, 3), 1
fre T=dl ) ST W9 % wAER fafag

(1) 9REE

(2) =@

(3) IWES

4) TIER

R Ry o fawmedl § ¥ W& SR w1 A R

Aa) @), @), 3), @ (B')/(2), 3), 4), 1)
© @O, @, 2, 3 D) 2), @, 3,

T.B.C. : 24-SS-BC-P—C 39
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80. Consider the following statements :

. nt separately
(1) Money Bill has to be passed by each house of the Parliame

and Rajya Sabha also has power to amend it.
(2)  Constitutional amendment can be introduced in either house of Parliament
(3) High Court cannot declare any central Ilaw to be constitutionally invalid
(4) Parliament shall consist of President and two houseg.
Choose the correct answer from the options given below :
(A) (1) and (2) only (B) (2) and (3) only
(C) (2) and (4) only _ (b) (4) and (1) only

ﬁﬂﬁf@amﬁfﬂ{ﬁ'ﬂnﬂﬁﬁﬁ:

(1) mﬁam%ﬁﬂﬁmm—mmﬁmm%amﬁwﬁ
Tud weT = s ) R

(A) =& (1) sk (2) cﬁ) FE (2) aik (3)

(C) Fad (2) AR (4) P D Faw (4) sir (q

T.B.C. : 24-S8-BC-P—C | 40



81. Match List-I with List-II :

List-I List-11
(States) (Lok Sabha Seats)

(@) Telangana (1) 48

(d) Odisha @) 14

(¢) Maharastra @) 21

(d) Assam- Gv) 17

Choose the correct answer from the options given below :
@ B @ @

A) @& ) G (o)

B) @G @) G 6

C @) @ @ G

M) Gv) GE) @ @)

-1 1 gE-11 | faem =il - |

 gEI el
=) (Fe Qv die)

(@) ATl ® 48

(b) I @ 14

() W (i) 21

) T " G) 17

3 fow T e § ¥ ¥ SW W gIE WY

@ ® ©
A G) G) G
B) G) Gi) )
© Gi) GO G
® G G 6

T.B.C. : 24-SS-BC-P—C
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82. Match List-I with List-II :

List-I ' List-1I
(@) Swami Dayanand (i) Sati Pratha
() Mahatma Gandhi (ii) Annihilation of Caste
() Raja Ram Mohan Rai (iit) Untouchability
(d) B.R. Ambedkar I(.v,'u) Arya Samaj Movement

Choose the correct answer from the options given below :

@ &) @@ @@
(A) @) @) @ Gi)
B) @) @) @) 6)
© O @ GG) G
D) @ -GE) G G)
-1 1 gA-11 A foem #ifad .

Het-1 -1
(@ @ EE=R (@) & gen
(b) WA T - >u) Sfd &1 faemn
() T T AT i) - IregvE
d) FMIAR. s (v) 3 TS e

e e M fowedt § @ o sw W g R
@ B © @

& @ G 6 @)

B) @) Gi) G) G

© 6 G) Gi) ()

D @ G G) 6
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83. Women empowerment is related to
(1) Participation in decision—mnking
(2) Education
(3) Divorce
(4) Employment
Choose the correct answer from the options given below :
(A) (1), (2) and (3) only (B) (2), (3) and (4) only
(C) (1), (2) and (4) only (D) (3), (2) and (4) only
Afeen wifeeo fFa W fsft @xar & 2
1) fofg &7 § i@

2) foan

3) dEH

4) Awd

4= e Tu fawedl § 9@ I F TAE DG

(A) e (1), (2) 3R (3) (B) Faa (2), (3) 3R (4)

(© Fad (1), (2) 3R (4) | (DS Fad (3), (2) 3R (4)
84. Conventionalized mode of social behaviour and thought is known as :

(A) Folkways (B) Tradition

(C) Mores (D) None of these

WERTT IS SFd9eR @ (99R % alichl @l ¥ ®Ed § ¢

(A) e By ey

(C) meR-faar (D) T ¥ FE T
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85. Gender disparities in nutrition is responsible for : ' '
(A) Poor health of the girls (B) Anemia among girls
(C) Death among girls (D) All of these
%ﬂﬁﬁﬁmmﬁﬁfﬁﬁmﬁﬁm&mm%?
A) w=fF ¥ wifts s (B) wefedl § g 3 ot
€) =l % 7 ¥ fau of 4 wh

86. The National Commission for Women was established in India in the year :
(A) 1990 (B) 1991
(C) 1992 D) 1995

mﬁ@%ﬁﬁnmwﬁ%@ﬂﬂﬁmaﬁﬁgm ?

(2)/1990 (B) 1991 -
(€7 1992 - (D) 1995
87.  The journal “Indian Sociolqgist”

(A) Madan Lal Dhingra

was founded by : .

(B) Ram Manohar Lohia

(€) M.N. Roy D) Shyamji Krishna Varma
T AR e 9 e s g w

& w1 v b (B) W T e

O Twm 19

(A) N.C. Kelkar (B) GsS. Khapde

(C) George Arundale (D) Joseph Baptista
191\62mmﬁmmmﬁa'ﬁﬁmmmm'%w@rmth q?
(A) . FeE (B) wiwm. &

(©) sl swdw D) SRE dufiray
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89. Who wrote “Devi Chaudhurani” ?

(A) Bankim Chandra Chatterjee (B) Dinabandhu Mitra

(C) Munshi Premchand (D) Rabindranath Tagore
‘et Sy fEEY faen w2

(A) sRF9 9% st (B) Ty fird

(C) TR W= (D) wWEAg ¥R

90. Who established “Dawn Society” ?
(A) Rabindranath Tagore . (B) Derijiyo
(C) Satish Chandra Mukherjee (D) George Yule
“gl SIS’ B we R &2

(Af/ﬁl"lew MR | (B) s
(C) W =% gesi D) i =
91. In which year was “Progressive Writers Association” formed ?
(A) 1934 (B) 1936
(C) 1938 _ (D) 1939
fipg o9 “ynfavie wEe §u' W ST RN A4 2
(A) 1934 : (B) 1936

(C‘A@BS | D) 1939

92. Who among the following was the last Secretary of State for British India ?

(A) Lord Pathick Lawrence (B) Lord Stanley
(C) Lord Listowel (D) Samuel Hoare
frotfafen § @ F fafen 9@ & sifm wfew & ?

(A) <ire ifus AR (B) ®< =™

©) wre o ) s W
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93. “Korra Mallaya” was the tribal chief of the Salaur reign (Vishakhapatnam), [,
which year, he rebelled against Britishers ?

(A) 1892 AD (B) 1895 A.D

(C) 1900 AD ' (D) 1902 A.D

F wewrw (Fremarem) § wop 4 & Rt yiw &) fR o 3w SO &
s e e 2

(A) 1892 ¥ (B) 1895 3
(C) 1900 %. D) 1902 %.
94. In which year was “Tana Bhagat Movement” started ?
A 1910 AD (B 1912 AD
(C) 1914 AD D) 1917 AD
‘o W SReH R a W g @ 2 |
(A) 1910 % | ~ (B) 1912 %
€) 1914 & @,/1917 3
95.

On which date Communal Award announced by the Britigh Prime Minister
Macdonald ?

(A) 15 August 1930 . (B) 16 August 1932

(C) 16 August 1933 D) 15 August 1934

_mmﬂﬂa'a'mw,m%wmmaﬂmﬁ )
(A) 15 34 1930 | ®) 168 stra 1932

(C) 16 AR« 1933 (D{ 16 v 1934
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96.

98.

Which of the following books was not written by Lala Lajpat Rai ?
(A) The Story of My Deportation (B)
(C) England’s Debt to India (D) The Foundation of Indian Culture
frafafen & @ S qws @ s @ Y T feer 2

A) R =R % mm feddym (B) f& ufediwa v arF sfrea

(C) Fog¥ 3= 3 fem (D) f& wEwA e e Fem

Who was the President of “All India States People Conference” during 1946-47 ?
(A) J. L. Nehru (B) Sardar Vallabhbhai Patel

(C) V.P. Menon (D) Rajendra Prasad

1946-47 % <H it sfrew Reg dvew FHE F wmm 9 % 2

W ATE. s (B) WER TE@wHE wd

(C) =4t #79 of ©= W
Given below are two statements :

Statement-I : Bhagat Singh and B.K. Dutt throw a bomb in the central legislative
assembly on 08 March 1928.

Statement-II : Bhagat Singh, Rajguru and Sukhdev were executed on 23 March
1931.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect

The Political Future of India

(D) Statement I is incorrect and Statement II is correct

A QA weA fGu w F .
Fa-1 : wa fig ok & g9 ¥ F0a faue T # 08 W, 1928 H T W
HehT oIl o
w11 : W fig, ToE @it gesa 1 23 W, 1931 F i F T ot
sqfifefiag T & ouR W AR T T fawed § § w0 faq s w1 g Ffe
(A) g 1 3R & 11 9 & € |

(B) wud I 3R &ua II <Fi e &

(€) =ga 1 T& ¢ i wuA 11 7o ¥

By F94 I T & 3R weA 11 W ¥
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| 99. Arrange these Anglo/Non-Indian Presidents of Indian National Congress ip
chronological order :
(1) Henry Cotton
(2 William Wedderburn
(3) George Yule
(4) Alfred Webb
Choose the correct answer from the options given below :
A) ), 3), 1), @
B) -(2), 3), @,
€ @), @), @, @
® @), @, @, |
MR W HI & G- T e st w6
1), ¥ weq | |
2)- fafaam degast
@f S g
(4)’ JT%he Ay
ﬁﬁumﬁaﬁﬁﬂmmmww:
A @), 3, 1), @
B @, @, @,
© @, @, q), @

@ @ @
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100. Given below are two statements :

Statement-I : The modern educated Indians did not support the Revolt of
1857 A.D.

Statement-II : All India Women’s Conference was established in 1928.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect gmd Statement II is correct

49 & wem G MU ¥

m—f:wgﬁiﬁﬁfwmﬁﬁ 1857 3. & fagie =1 wmeda & foFam)
FqA-11 : sfEe aRdtg Afeen @9 T Trwn 1928 § g oft
aqﬁ%ﬁgamﬁ?aiwmﬁ%ﬁnmﬁmﬁﬁ%mﬂaﬁamﬂﬁqﬁﬁm :
A) Fga 1 3w 11 W& 7

(B) FeA 1 3t wod 11 3 T §

©) % 1wd ¥ i I e ®

D) Wlnﬂa’éaﬂtwn‘aﬁ%
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101. Match the following :

List-I List-II
(Authors) (Books)
(@ Bal Gangadhar Tilak () The Future of Indian Politics
() Aurobindo Ghosh (i) Interval During Politics
(¢) Ram Manohar Lohiya (iii) The Orion
@ MN. Roy () The Life Divine

Choose the correct answer from the options given below :

@ B @©© @@
(A) @) @ (@Gv) @)
B) W) 6 @G D)
©) @ @) 6 6@
M) @) @) @ )
frfafea +1 sfea fiem +ifs .

ol T-11
(@ <& TR foos :
b) IRfiz Oy k) ammmmﬁﬂ
) T sftn e
) ™ 'q:h'gz. wifean @D = ,
(d) W@ e
ﬁﬁq g (iv) Emﬁ;am

A G G G (€1))

B) ) O @) (iid)

©) () Ga) @) (ix)
@ ) Gy @
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102. What term is Gandhiji used for social work to express a special approach to rebuild

103.

104.

105.

"T.B.C.

man and the nation ?

(A) Constructive Programme (B) Non-violence

(C) Social transformation (D) Satyagraha

I 3R T & A & foru uw fadis gfesin ora w0Y % fom i Y wmfes
4 & fau fFw = @1 W@l fem ¥ 2

(A) EAHH FRHH (B) arfEan

(©) S R &5 e

As per Gandhiji what is the powerful medium for social change and development ?
(A) Non-violence (B) Satyagraha

(C) National Movement (D) Education
Tﬂ%ﬂﬁﬁ%mwﬁaqﬁaﬁq@ﬁmmwmmw% ?
(A‘)/ Hfe | - (B) wEnE

(C) T AR (D) Tean

What was considered as moral elevation by Gandhiji ?

(A) Village Sanitation | (B) Total Prohibition

(C) Basic Education - | (D) None of these

st 3 fFR A Seam W @ ? |

(A) W™ T : | (B) o Ay

d/ St fen D) T F = &

Kasturba Memorial Trust which aimed at training rural women for the various
national tasks of Rural reconstruction had headquarters at :

(A) Indore (B) Agra

(C) Delhi (D) Allahabad
Wmm;e,mmmm%ﬁﬁmmmamm
Hheensll F wfifam ST 41, % TEAed Hel 9@ ?

A) VR (B)
() Feeet (D) Sl
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106. Binwa Hydel Project is located in :

(A) Kangra (B) Mandi
(©) Kullu (D) Shimla
faan wo faga afcdsn feaa ®
(A) =TS § (B) wust #
(C) & # ®) fwen &
107. Trouts found in rivers of I-Iimachal Pradesh are the famous variety of :
(A) Fish | | (B) Crab |
(C) Prawn (D) Turtle

mmﬁ?ﬁﬁﬂﬂﬁﬁmmﬁ%ﬁaﬁﬁ%ﬁ?ﬂaﬁm% ?
(AD/ Tt | B) Sw
(C) stm . D) HgsT
108. Where is the fruit demonstration farm located in Himachal Pradesh ?
(A) Saloh ' (B) Ghanari
(C) Haroli (D) Amb
et 2w A wer vRE e el R &
(A) wmerE d (B) “wARY ¥

(C{ et & (D) 3r= &
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109. Which of the following glaciers is not a part of C]:}q_l}dlfa Valley ?

110.

111.

(A) Racha (B) Boulnag

(C) Shili (D) Miyar
ﬁmﬁamaﬁﬁm@ﬁma‘m.a@wﬁmaﬁ% ?

(A) T (B) <

€) fr=t & @) frEr

Bhakli Khad is a tributary of which river in Himachal Pradesh ?
(A) Sutlej : I(-B) Yamuna

(C) Beas T (D) I_Chenab

Tae TeE ferae Ry F fRY T 9 v @ L 0

(A) g (B) =W
(({ 0| 4 D) fam

Uhl is a tributary of :
(A) Ravi river (B) Yamuna river

(C) Beas river (D) Sutlej river

S fhut weEE W@ ?

Ay B) Tgn =&
©) = =& N (D) Wags &
TB.C. : 248S-BC-P—C 53
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112. Which lake in Himachal Pradesh is famous for Panch Pandya Tree ?
(A) Renuka (B) Khajjiar
(C) Machial (D) Rewalsar
mnmmaﬁmmﬁamqwmm% ?
A T= (B) @fmar
() wfwma ®f fearerr

113. Chakki River joins Beas River near :
(A) Palampur ~ (B) Kangra
(C) Pathankot (D) Mandi

R, W R A e S wihy e &

(B) Bhatri

(C) Tiler Dhar D) Korga
s b ”mﬂma}m?ﬂmmt:

s ® W
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115. ; A
Which among the following does not lie in the dry hill soil zone ?

(A) P i
angi (B) Kinnaur

(C) Lahaul (D)) Paonta

Frafafen & ¥ S ©m 1 wed firedt 8§ fom @ % 2

(A) 9t (B) f&=R
W
(C) R (D) e

116. Which of the following is the coldest place in Himachal Pradesh ?
(A) Keylong (B) Shimla
(C) Kullu (D) Chamba
frafafeg # 4 feree Wy &1 9@ 3 ®@H HAE T 2
(Aﬁéﬁfﬂ | (B) femam
(C) T (D) ==

117. Which among the following districts is fully located in the Shiwalik

Hills ?
(A) Kangra (B) Solan
(C) Una ' (D) Sirmaur

Frofafea 8 @ S foen g A @ frefes & wefed § few ® 7

(A\éi’l?ﬂ - (B) W

(D) fawiR
55 P.T.O.

(C) =T
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1 two statements ! _ 4 in 1974.
e (S}::n b::'—‘:" | m‘Eljlmlagluat conservation reserve was es;al;l:;learea
ement-I : : -
: hoose the m
In the light of above statements, ¢ _

options given below :
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are 1nc.ontect
(C) Statement I is correct and statement II is .mcorrect
(D) Statement I is incorrect and statement II is correct
R Fw e .
W I : IRANR HISYH Rod @1 w1974 # gg o9t
FEA 11 : IRAWR Foave Awd &1 8a%a 67 o fEd. ¥
FffefEn Folt # omm W R &Y T faeedt § ¥ v 3 W W IS Fih
(A) F91 I 3R F9= 11 3 wdt -
B) . F91 1 3R w9 11 <N o &
(C(WIEBT%@\'{WHW%
D) #9797 [ Tod € R w11 w6 &
119. Given below are two statements :
Statement-I : Cadbury chocolates have their choeolate making plant at Rajban
in Himachal Pradesh.

Statement-II : Barmana cement
Pradesh.

In the light of above statements, choose the most appropriate answer from the
options given below : | ; :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I isg correct and statement I jg ;

plant is located in Sirmaur district of Himachal

(A) F1 1 MR F0 11 4w #
(Bv%mlamwnﬁmg
(C) WIW%@TWHW%.
D) FI7 1 TR & M Fom 11wy
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120. Arrange the following places of Mandi district from north to south :

121.

T.B.C.

(1) Jogindernagar

(2) Sarkaghat

(3) Rewalsar

(4) Sundernagar

Choose the correct answer from the options given below :

(A) (1), (2), (3), (4) (B) (2), (3), 4), (1)

- (©) 3, 1), (D), (2) - (D) @), (3), (2), (1)

nﬁﬁﬁ%ﬁmﬁf&awﬁﬁw%ﬂmﬁnﬁmmaﬁﬁﬁ
(1) TR

(2) EHTER

3) fEmm

4) YE<ER

9 fou T fawed § ¥ @ W F A A6
(A"(1), (2), (3), 4) (B) (2), 3), 4), (1)
(C) (3), 4), (1), (2) D) @), 3, 2), (1)

Arrange the following peaks of Himachal Pradesh from lowest to highest
elevation :

(1) Pin Parbati

(2) Deo Tibba

(3) Umasila

(4) Churdhar

Choose the correct answer from the options given below :
A @, @, 1,3 S (B) @, (), 3), 2

© @), @), Q), 2 D) (2), 3), (1), (4)

ﬁmwu&waﬁﬁnﬁﬁaaaﬁﬁﬁaﬁﬁaﬁ%wmﬁw%mmﬁm

(D ﬁﬂnﬁ?n

2) <Tg fe=
(3) SHmghen

(4) HSUR
ﬁﬂﬁqwﬁwﬁﬁ%uﬁmmwﬁﬁﬁ

ot @), @), (D, 3) (B) (4), (1), (3), (2)
© (3), 4), (1), (2) D) (2), (3), (1), 4) ,
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1 i ts :
122. Consider the following statemen ...
(1) Una district is the hottest place in Himachal Pradesh.

(2) The coldest place in Himachal Pradesh is Shimla.

(3) Long moon nights season pertains to Kullu district of Himachal Pradesh

(4) Rainiest district in Himachal Pradesh is Kangra.
Choose the correct answer from the options given below :
(A) (2) and (4) only (B) (2) and (3) only
(C) (1) and (3) only (D) (1) and (4) only
frafafas sl W faer =i .
1) F oo femme R & g8 ™ WA g
2 feurm Ww w1 w9 e wm famen €
@) W e T W e R WY # weq (@ wenE )
@) ferea wu w1 vad sfuw au @men fven simer 2
e fau T el d ¥ o SW oW e w0 1
&) FTd (2) 3R (@) | (B) P (2) 3R (3)
©) F=a (1) v (3) @& O R @
123. Consider the following statements :
(1) NH-505 is the longest National Highway of Himachal Pradesh.
(2) NH-907 is the smallest National Highway. in. Himachal Pradesh.
@) Kinnaur has the least road length in Himachal Pradesh.
(4) Lahaul and Spiti has the highest road density in Himachal Pradesh.
Choose the correct answer from the options given below
(A) (2) and (4) only (B) (3) and (4) only

(C) (2) and (3) only | D) (1) and (2) only
frefafaa et w fasr it :

ﬁﬁqnqﬁmﬁﬁwammm :
(A) 9 (2) 3R (4) B 9= (3) sik (g
(C) #a@ (2) sk (3) D) o (1) 3k (g)
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124. Match List-I with List-IT :
List-I
(Location)
(@) Baddi
(b) Parwanoo
(¢) Paonta Sahib
(d) Amb

List-1I1
(Industry)
(i) Automobiles
(i) Chemicals
(i) Light Engineering
(iv) Textiles

Choose the correct answer from the options given below :

@ & @ (@
(A) @) @) G @)
B) () @) GG 6
© @ @ GG G
M @G GG @ O
gt 1 &1 g [0 8 faem sifs .

gEit-1

(TETT)

@ =&

(b) WA
() Tdiaa wfes
(d) =

-1
(3T
() SArREEd
() WEA |
(i) TR ST wmEE
(iv) FTTTS

9 ey g fawedt # ¥ ¥ IW W TR BN

@ ® ©© @

@A) G @ @ O

B) Gv) G&) GG O

© O G G @)

O G ) @ 6
TB.C. : 24-88-BC-P—C
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125. Match List-I with List-II :

List-I List-11
(Project) (District)
(@) Bhaba () Sirmaur
() Gin (@) Kangra
() Bassi _ | (i) Kinnaur
(d) Baner ' (iv) Mandi

Choose the correct answer from the options given below :
@ ® @© @
@ @& @ @) @ A
®) G) G @ O
© G @ @ G
O G&i) G G )
g IR e R
eI g

(aRatsrm) (Rrem
(@) W= ‘ @) fawir
®) fri | i) T
c) =&t - (i) =R
@ +%§ @) W

o Ry e § ¥ 9@ W oW e Sfe .
@ ® © @ .

A & G G Go)

B) @) G G G

©) Gi) @ G G

(D/:J @ 6 ()

TBC. : 24SS-BCP—C 60



126. Lord Ellenb
n Orough was the Governor General of India from 1842-1844. Where

127.

128.

was his place of residence in Shimla ?

(A) Bentinck Castle (B) Auckland House

(C) Kennedy House (D) Peterhoff

i€ TSRl 1842-1844 T wWRa & Tk wa @) fen d S feEm@ e wE

qr ?

(A) W P B sieds T

(©) #3& wwew (D) s

In which year was the Gaiety Theatre in Shimla opened ?
(4) 1901 - (B) 1876

(C) 1887 ‘ D) 1850

e § A e e w2

(A) 1901 '(5 1876

(C) 1887 | ©) 1850

Which of the following led the ;‘Dumha Rebellion” of 1859 ?
(A) Fateh Singh (B) Bhagmal Sautha
(C) Raghunath Singh (D) Kanhiya Singh
frefafes § @ fre TR fRE 15593'11?@&'&@1941 ?
(A) Wae fae (B) v A |l

(©) T fae (D) = fae
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129. Who was the king of Mandi ciuring the Farmer’s movement of Mandi, whic,
took place in 1909 A.D. ?
(A) Zalim Sen | (B) Jogender Sen
(C) Bhimsen (D) Bhawani Sen
WUt F AR e S 1909 € F gen @i, 39 AW WS UM FH a1 2
(A) “ifew ¥ (B) ~Sifiret 49
(C) “im&m oy ot /9

130. In which year “Prem Pracharini Sabha” of Dl;ami renamed as Dhami Prajamanda] ?
(A) 1937 AD. (B) 1938 A.D. |

(C) 1939 AD. ' D) 1941 AD.

(A) 1937 %. ' " (B) 1938 %.
(C) 1939 3. | (D) 1941 %

131. “Topi Lani” is a form of marriﬁge prevalent in which of the following tribes ?

(A) Gaddi tribe (B) Pangwals tribe

(C) Kinner tribe | (D) Lahuli tribe

(A) T SFenta (B) Yrate Sryemify
(© FFR s (f)/aremmmﬁr
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132. Which of the following Mand; ruler built “Bhootnath Temple” at Mandi ?

(A) Hari Sen (B) Dilawar Sen

(C) Narayan Sen (D) Ajber Sen

ﬁﬂmﬂﬁﬂwﬁhﬂwimﬁﬁ“wﬁﬁv”mm?

&) A (B) et 2
(C) -Ew | D) I T
133. Who was the first Vice President of Himalayan Hill States Regional Council ?
(A) Swami Poornananda (B) Pandit Padam Dev |
(C) Indra Narayan (D) Shyamchand Negi

femrern foa Reg Ooe #REfgd & T8a 99H A q 7

(A @t R - (B) tfed T

© T= ot o v

134. Which of the following was the last king of “Guler State” ?

(A) Bhup Singh (B) Raj Singh

(C) Prakash Singh (D) Man Singh
frofafad § @ @9 TeR Ts' & e T @ 2

(A) SEReE (B) Twifde

() werer fEE (D) W
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135. In which year, Kangra ruler Ghamand Chand was appointed Nazim or Governor

of the Jalandhar Doab by the Ahmed Shah Durrani ?
(A) 1757 A.D. (B) 17568 A.D.
(©) 1759 A.D. (D) 1760 A.D.

e 9 wime % www Wiz W oww e I g TEER Qo w1 AR @
wR g fewm oo 2

X 1757 €. (B) 1758 3.
(©) 1759 3. (D) 1760 %.
136. In Tarikh-i-Farishta, Farishta refers Nagarkot as :
(A) Naggar B) Trigart':a
(C) Bheem (D) None of these
ThE-T-wie #, wiew ¥ TRae W fre w9 § defifa fwm o 2
A TR (B T
(C) im D) T § w5 &
137. In which year “Pajhota Kisan Sabha” was formed ?
(A) 1940 AD. (B) 1941 A.D.
(C) 1942 AD. (D) 1943 AD.
‘o feaE wW' w1 e few o e @ 2
(A) 1940 %. (B). 1941 E.
(\91/19;42 3. D) 1943 3.

138. Who was appointed first Lieutenant Governor of Himachal Pradesh in‘ 1952 ?

(A) Yashwant Parmar (B) M.S. Himmat ‘Singh

(C) Padam Dev (D) Gauri Prasad
1952 # feree W29 P wom A Tk w1 3§ R frgea fem w2
(A) I9EE TER (BY w.ww. femm foe

() weH 2 O T wEe
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139. Consider the following statements rogarding Lord Amherst :

140.

Statement-I : He was the first Governor CGeneral who visgited Shimla.

Statement-1I : In 1827, he stayed with Major Kennedy, the political officer of
the Shimla district at *‘Kennedy House',

Choose the correct option :

(A)  Both Statements are correet,

(B) Only Statement 1 is correct

(CY Only Statement II is correct

(D) Both Statements are incorrect

e TEE & W) § i wu w fawr w9

HUT I : 9% TR TR THe F S fymen o )

FOT I : 1827 § § I3 wew”’ # fimen @ & worifas stfusrd (dffeafesa
ATHFR) AR FAS B Y g § ®)

; fawedi # @ 9t s g

(AY 2 w7 w9 € B) fow I 19 ¥
(©) o wow II ¥ % (D) < FuT wé T T

Consider the following statements regarding the Punjab Boundary
Commission :

Statement-I : The Commission was setup on 30th April 1966.
Statement-II : This two membered commission had Justice JC Shah and Sardar
Hukam Singh as members.

Choose the correct option :

(A) Both Statements are correct

(B) Only Statement I is correct

(C) Only Statement II is correct

(D) Both Statements are incorrect

Yore W e ®g e e W faew st

HYT 1 : AET H TS 30 IS 1966 W fEH@m )

YA 11 : 39 3 WG M & e . wR qo §eR e g e=m A
frefafea fawedl 4 4 98 W 9@

(A) BFt w7 wh ¥ B % Fy7 1 wd@ ¥
(C) fow ®w II W&t % (D) ¥ w7 T T ¥

T.B.C. : 24-SS-BC-P—C 65 : P.T.O.



141.  Arrange the chronological sequence of the following Kangra Kings :

(1) Raja Triloka Chand

(2) Raja Hari Chand I

(3) Raja Megh Chand

(4) Raja Bidhi Chand

Choose the correct answer from the thions given below :
A @),3),0,4 - | (B) 3), (2); (4), (1
C) (2),3), 4, Q) D) -(3), (4), (2), (1)
R A Firer B Tl B PrEETER St R
(1) T e

(2) T eRET wum

(3) T A

4) T fafysg

e fog T famed d ¥ v swo W T s
(A) (2), (3), (1), 4) B @), ), @), 1)

©) (@), 3), 4, Q) (D{ (3), 4), (2), (1)

T.B.C. : 24-SS-BC-P—C 66



142. Arrange the chronological sequence of the following Kullu Kings :
(1) Raja Man Singh
(2). Raja Jagat Singh
3) Raja Tedhi Singh
(4) Raja Ajit Singh
Choose the correct answer from the options given below :
Aa) @, @), 1), 3) (B) (2),' (1), (3), (4)
© 1), 2), 4, 3 D) ), @), (2), (1)
T Ry g wee TS R FemAER wEfan w9y
(1) T A fe
@ T s fie
3) s I few
(4) TS S ﬁra

TR e T fowed # ¥ ¥ W F1 g Fi .

@A) @), @, (1), @) (é/(z), Q), (3), (@)
© (1), 2), @), 3) D) (3), 4), (2), (1)
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143. Consider the following statements :

(1) ‘Dagshai Cantonment’ was founded in 1843.

(2) Mughal Emperor Jahangir conquered Kangra fort in 1622 A.D.

(3) Raja Karam Prakash of Sirmaur established Nahan Town.

4) Raja ‘Byang-Chub-Semspa’ of Ladakh built ‘Tabo monastery’ in South Spit;

Choose the correct answer from the options given below :

(A) (1) and (4) only (B) (2) and (3) only

(C) (3) and (4) only (D) (2) and (4) only

ﬁtﬂ%lﬁaaamﬁi_m'ﬁanaﬂﬁra :

1) "SreE e’ @t s 1843 ® g ot

(A) %9d (1) 3R () (B) @9d (2) aix (3)
(C©) F=@ (3) 3k (4) -

D) ®a9 (2) 3k (g
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44, Consider the following statements -

(1) In the Lahuli Tribal community of Himachal Pradesh, arranged marriage
is called “Kumai Bhagston”.

(2) The Supreme Deity of the Gaddis tribes is Lord Shiva.

(3) The ‘Janekang or Janetong’ is a form of marriage prevalent in Kinner tribe

of Himachal Pradesh means—arranged marriage.

(4) The majority of Kinner tribal group in Himachal Pradesh practise Jainism.

Choose the correct answer from the options given below :

(A) (1) and (3) only (B) (2) and (3) only

(C) (2) and (4) orﬂy - (D) () and (2) only

frefafes 9 = fo=r i3 -

(1) ferae W B ordeh sufart W # otw A W CHE T wE o
2l

(2) T enfeardl & watew daa wEE fiEm €

@) ‘w0 @ ' ferEd we it fF aftardt § yafed faaw w1 w9
¥ o o 3—ail AR

@) femaa wRw § fFR o @ & sfusiv dm SAvd #1 wem @ §)
2 fu T fawedl # ¥ W& IW F T R
(A) @as (1) 3R (3) (Eh/éaa (2) 3R (3)

(C) =ad (2) 3R (4) M) @Haw (1) 3R (@)
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145. Match List-1 with List-II :

List-I List-11
(Principality/Reign) (Offshoot of)
(a) Jllaswan (i) Guler
(b) Balsan (i) Tharoch
() Dhadi (iif) Sirmaur
(d) Siba (iv) Kangra

Choose the correct answer from the options given below :
@ B @ @

(A) Gv) @) @) @)

B) @) @& 6@ 6

©) @) G 6 - G)

M) @) 6 G G

T F g R frem s

T 11
(Rarea =) (@ vIrEm
(@) SHaHE (i)‘ '{F}R
B Sewr G)
) W - i) faciR
(@) fa=n . .
(tv) =TTST

ﬁaﬁﬁ“‘!mﬁﬂ‘ﬂﬂmmwﬁm .
@ ® @ @
(A) @) G Gy )
B) Gv) @) Gi) G
C) @) ) &) @)
M) Gv) @ G Gi)
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146. In Himachal Pradesh Budget 2023-24, the youth of the state will be provided

147.

148.

subsidy to set-up solar power projects on their own/leased land. The subsidy

rate 1s :
(A) 50 percent (B) 45 percent
(C) 40 percent (D) 35 percent

%ﬂﬁﬂmmzozs—uﬁw%gﬂaﬁﬁmmﬁmﬁﬁ‘iﬁmﬁw
ftdioA it S @ fa aferet wem # St wfeEdl T E

X5 so0 whwm B) 45 e

(C) 40 wfeerd (@) 35 wfawE

To increase the income of milk producers, which measure will be used by the

Himachal Pradesh Government ?

(A) Provide conditional grants (B) Levy milk cess

(C) Provide subsidy on cattles (D) Loan waiver scheme

S 'ﬁmwﬁémmmmmmm?
Ay T RE WA HK  (B) 3¥ ITH T

(C)nﬁﬁﬁﬂnﬁq@’rwﬁ (D) /I TG A

In 2022-23, the growth rate of manufacturing sector in H.P. is estimated at

percent over the previous year (at constant prices).

----------------------

(A) 6.9 percent (B) 7 percent

(C) 7.5 percent (D) 7.2 percent
zozzﬂzaﬁmmﬁﬁﬁﬁw & @t gfg 3 e ad =t go § fwan wfawm

(feor gl W) s ® 2

(A) 6.9 wfaw@ (Ez/ﬂﬁw
(©) 7.5 gfaed @y 7.2 wfavE
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149. What is the target of HPSHIVA project ?

(A) To grow cash crops on 6000 acres of land by 2028
(B) To grow cash crops on 7000 acres of land by 2030
(C) To grow cash crops on 8000 acres of land by 2032
(D) To grow cash crops on 9000 acres of land by 2030
HPSHIVA wfdem &1 @eg =1 & 2

(A) 2028 TH 6000 THZ i W T T I

(B)- 2030 TF 7000 TH Hfi R TR HHA I

(C) 2032 TF 8000 THE Y W TR ®Eel I

(D) 2030 TF 9000 THE YA W T ®Het Il

150. What is the target area for paddy production in HP in 2023-24 ?

(A) 68.46 thousand hectares (B) 66.17 thoulsa_nd hectares
(C) 88.16 thousand hectares (D) 67.30 thousand hectares
2023-24 F foeel W & 9F 3T W A & wm ¥ 2

(A) 68.46 TR RN (B’/ 66.17 TR TRW

(C) 88.16 TW IRW D) 67.30 TR WX

151. How much subsidy is provided by HP Government for the construction of Bore

wells and shallow wells ?

(A) 40 percent : (B) 50 perceni.:

(C) 30 percent (D) 33 percent
mﬂmmwaﬁmamfmﬁmmmmmmaﬁ
g o7

(A/;o yfeRTa (B) 50 wiwwm

(C) 30 wiawm (D) 33 wftwm
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152. Which crop has highest, productivity in HP in 2022-23 ?
(A) Wheat (B) Barley
(C) Gram (D) Rabi pulses
2022-23 ¥ feure R § frw wum w1 scRE@ T ArE %2

@R

(B) i
(C) =7 D) T e
153. Which of the following districts had lowest literacy rate as per census 2011 in
HP.? :
(A) Kangra (B) Mandi
(C) Shimla (D) Solan :
ferrae s # SFEOMT 2011 @ orqER Frafafen # & fea e | waa @ w=s
HH A4t 2 |
(A) =TS B) =&
© femen oy e

154. What is the objective of Sukh-Ashray Sahayata Kosh in H.P. ? .
(A) To help people above the age of 60
(B) To help people above the age of 70
(C) To heip people above the age of 65
(D) To help the needy children and youth
feqrae WY § GE-NHF WIEA HIY FH I T ¥ ?
(A) 60 ad ¥ Afus 3 F A H WK FEN
(B) 70 =¥ q 3ifyss @ B AN H W F
(C) 65 ¥ q Afus Iy & w H HAGE BTN
@y sewaEg s=at AR gl | Agg FIA

T.B.C. : 24-SS-BC-P—C 73 PT.O.



' Ith sectop i<
i imachal’s hea <
165. Which of the following statements regarding Hi

incorrect ?

1000 live birty,,
(A) The Neonatal Mortality Rate in Himachal is 14.9 2p;;‘9 o ‘
according to National Family and Health Survey (

88 Hima(:ha
\B)  As of December 2023, there are 680 Primary Health Centres acro |

i 1 trend ov.
() Life expectancy at birth in Himachal has been on an increasing trend ov.,
the years and is currently higher than the national average

(D) The institutional delivery rate in Himachal is 88.2% according to Nationa|

Family and Health Survey (2019-21).
&wma%ﬁm@a%ﬁzﬁﬁﬁmmaimw?ﬁ% ?

(A) T wRER qar @ g (2019-21) & IR Fav@ T T femas =
14.9 9fd 1000 W= %

®) Rem 2023 7 fermae # 580w e %3 ¥

(C) m%mﬁmm(aﬁ)mﬁﬁ@é
a&qnﬁn@qa?maﬁaﬁm%

@) T TRER 7o wRer wFamm (2019-2021) % srER Teomm Wy R femma
? 88.2 whwm &

W Awa @ e

156. Sethu Project in Kangr

a, which wag commissioned

in 2023, has the capacity
of :

4) 2 Mw (B) 1 MW

) 1.3 Mw D) 39 MW
mﬁmqﬁmﬁzozsﬁwaﬁnﬁm W R .

(A) 2 Amare (B) 1 ¥

(©) 1.3 e @ 39 A
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157. Which is the highest Peak in Himachal Pradesh ?

158.

159.

A) Mount E S
(A) iy verest (B) Nanda Devi

© K2 (D) Reo Purgyil
feee WV # w9 Y

(A) WEE TR (B) a1 it
&7 K2 D) figh gfsie .

HIMSWAN is a secure network, which provides secure network connectivity to

all State Government Departments up to block level in Himachal Pradesh. What
does HIMSWAN stand for ?

(A) Himachal Pradesh Secure Width Arena Network
(I;}machal Pradesh State Wide Area Network

(C) Himachal Pradesh Secure WiFi Area Network

(D) Himachal Pradesh Simple and Wall Area Network

“ferar" & @ g Yeaw € W frome Ru # v w@R @ Wit faur @
TH "R qh Jead glaw e s gl ferar @ e ®

(A) fearaa wRu feRk fagy @ e+
(B) feamm Wy Ve a5e Al Feas
©) fearaa Wy foriR E-wR T Yeas
(D) femree Ry fome G 9= i e

For FY 2023-24, the forestry and logging sub-sector accounted for what percentage
of the total Gross State Value Added (GSVA) in Himachal ?

(A) 0.75% (B) 1.25%
(C) 3.74% D) 5.13%

%ﬂﬁﬁu&mﬂaﬁzozamﬁmﬁﬁ#naﬁmm—mmwwnmaﬁa
(Mugde) # fom sfem AEH g7

A) 0.75% . (B) 1.25%
©) 3.74% ®) 5.13% oo
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160. What is the share of secondary sector in Gross Value Added in .{ﬁma"hal Pradeg,
during 2023-24 ? .

(A) 40.04 per cent (B) 41.98 per cent
(C) 43.07 per cent (D) 39.06 per cent

2023—24ﬁ%mm'ﬁmwthﬁqﬁ?ﬁw &% @ feeded fheft &
(A) 40.04 vt

(B) 41.98 Wi
(C) 43.07 wfowa (D) 39.06 Wi
161. According to 2011 census, consider the following statements regarding Hamirpyr
district :
Statement.-I : Hamirpur district ranks 2nd in terms of population density in
the state.
Statement-II : Hamirpur’s population density is 594 persons per sq km.
Choose the correct option :
(A) Both Statements are correct
(B) Only Statement I is correct
(C) Only Statement II is correct
(D) Both Statements are incorrect
2011 ﬁm%mmﬁa%aﬂﬁgm“wﬁm
:awl mﬁmlﬁm%mmﬁmm(z) TF YT M
I
g1 11 :

(B) fow w97 1 vt &
(G/ﬁﬁwnaﬁ%

(D) 2 w97 T T ¥
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162. Given below are two statements

Statement-I : The Social Progress Index (SPI) has three dimensions : Basic

Human Needs, Foundations of Wellbeing and Opportunity.

Statement-II : Himachal Pradesh has been ranked 9th as per SPI 2022 and
attained Tier-II status.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

Qe Ry M E

= 1 : TR T g (TEeTd) & i e § : afr T s,
v B SR 3R IEET

H9F 11 : foread Wy & THUeNs 2022 % FTER & A far mw ¥ iR A2
1 <= WA e ¥ |

s we B R W A R T fred § @ e IR IR w A
(A) w]aﬁtWIIﬂ‘ﬁHﬂ%

(B) F94 1 3R Fga 11 [ W €

(©) v 1 9@ ¥ ol w1 e ¥

‘(D) Fu 1 Tem ¥ IR wuA I W@ ¥
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) umber of
163. Arrange the following districts in descending order as per the n self

help groups formed during 2023-24 :

(1) Chamba
(2) Kangra
(3) Hamirpur

(4) Mandi

Choose the correct answer from the options given below :

A) @), 2), @), @ B) @), D, D, 3)

©) @, (2), 3, (1 D) (3), (2), 1), (1)

2023—24%%%@%@#@%@%%%%
% H afea wiw

Q) == v
(2) =TT ™

3 TRE ~
@) =g

ﬁﬁ'&nﬁﬁmﬁﬁ%laﬁwmwﬁm;

(:/1), @), 3), (@) B) (@), ), @), @)
& W, @, @, Q- M) @), (2), @), 1)
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164. Consider the following statementg -

(1) In June 2 . %
019, the Minister of Power announced that India has become a

power surplus country, with no shortage of electricity or coal.

(2)

u 1 . . N
Currently, India produces a majority of its energy from renewable sources.

(3) India’s per capita power consumption was 1,149 kWh as on March 31, 2018.

(4) PPAs are bilateral contracts between the procurers (discoms) and the

generators (power plants).

Choose the correct answer from the options given below :

(4) (1) and (3) only (B) (2) and (3) only

(C) (1) and (2) only @ (3 and (4) only

frefafed F99 faan Hifea

(1) S 2019 #, faswedt @ 3 Soow =t {6 YR T faeeh SR 29 99 T ¥,
el farht o W H® B A

(2) aﬁqﬁﬁ,wmaﬁﬁiﬂﬁmﬁrﬁi#ﬂmm%m

3) 3 ard 2018 | WRA ® A = faswedt @ 1,149 kWh <)

@ i whead (fewrn) st Rt (Faoeh W) F A fuafta s €

ﬁmmmﬁ@uﬁmwwﬁm :

A) Baa (1) MW B3) @) FE @) IR @)

©) d=a ) I @ (D) waw (3) 3R 4)
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6. Normal Range of 1 :
16 reathing rate per minute in an average adult person at

167.

168.

169.

TB.C. : 24-SS-BC-P—C

81

rest is :
(A) 9-12
(B) 15-18
I3 (1) 30-33
Fell W T S H fasmn sen o st v @ A
A) 9-12 wfa fie (m/ls-w o e
€ 21-24 Wiy Fr2 (D) 30-33 wfa fae
Which instrument measures the distance travelled by Automobiles ?
(A) Speedometer (B) Barometer
(C) Lactometer (D) Odometer
ﬁﬁmmﬁmﬁﬁ@ﬁmm% ?
(A7 S (B) R
(C) TR D) WX
Which of the following diseases is caused due to deficiency of Vitamin D ?
(A) Beri-beri (B) Anaemia
(C) Goitre (D) Rickets
et 5 @ F G ff @ R wR S w2
A) -8 (B) 3l
(p/ e (D) frehew
W'hich of the following is not a part of pistil ?
(4) Stigma - Rh Sy
(C) Style (D) Petal
brffan § @ F AR F e ?
(A) afdwm (B) ¥ERE
(O D) THE

P.T.O.



170.

171.

172.

173.

. 9
Which of the following waves aré used in SONAR *

(A) Infrasonic Waves (B) Radio Waves
(C) Audible ‘Sound Waves (D) Ultrasonic Waves
Freifefan 4 @ #e e A v A oo €2
&/ s B YA wd
(C) %=1 @fq i (D) Wy i
On which of the following phenomena Kaleidoscope is based ?
(A) Refraction (B) Dispersion
(©) Reflection :- | (D) Scattering
bR 1 § ¥ frg ofgen w e & 2
(Ae/ AR B) faww
(C) W D) wHl
Which of the following will ‘not undergo Slublimation ?
(A) Camphor (B) Ammonium chloride
(€} Iodine . M) Sodium chloride
f & A forwd. swloes i o8 ot 2 |
(4) : |
(C)/ Tﬂiﬁh : :z; $ s
Which of the following metals is in liquid f; e
(A) Sodium | °rm at room temperature ?
. (B) Potassium
(C) Mercury D) Gold
ﬁﬁﬁ‘lﬁﬂﬂﬁﬁaﬁmu@w%m“ﬁ% )
(&) e (B) drferm
(€ (ﬁ) Ty
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Which of the f i
174. ollowing organelles is known as the powerhouse of the animal

175.

176.

cell ?

(A) Lysos
ysosomes (B) Vacuoles

C) Mito ]
( itochondria (D) Golgi Apparatus

= A%/ oy S = S s et s § 2

(&) SrHEm (B) @
(ﬁ/ﬁr@ﬁﬁw (D) Tifest IuHT
Which of the following reptilia has four-chambered heart ?
(A) Snakes (B) Lizards

(C) Turtles (D) Crocodiles
frafafes wigy 4 @ foras o IR-wafa @ § 2

(A) w9 (B) fousmeit

(C‘J/EQEHT - (D) RIS

An object weighs 60 newton when measured on the surface of the earth. What

would be its weight when measured 611 the surface of the moon ?
(A) 5 newton - (B) 10 newton

(C) 6 newton (D) 7.5 newton

qa;agwqﬂqa?aﬁwmmﬁmﬁo:mm%lmmmuﬁm
W A W fwan W 2

&) 5 A (B) 10 =pF

(é)/s-:{g:] D) 7.5 =gz=
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180. Given below are two statementsg -

Statement-I : White light is composed of seven colours.

Statement-H : A reg) image cannot be obtained on a screen.

In the light of above statements, choose the most appropriate answer from the

options given below :

(A) Both Statement-I and Statement-II are correct

(B) Both Statement-I and Statement-II are incorrect

(C) Statement-I is correct and Statement-II is incorrect

(D) Statement-I is incorrect and Statement-II is correct

e R wm Ry E

WAL : ¥4 YHR G A0 fago ¥
m-nz-amﬁmuﬁfﬁaaﬁﬁmm?ﬁﬁmwml
mmﬁ%wﬁmﬁmmﬁmﬁ%mﬁwmwﬁm;
(A) FY-1 3R Fya.11 [ we F |

(B) %A1 3 HerIl 2 e 3

©) *9I & ® i FyR11 o 2

(D) m;l T ® IR weRa wd ¥
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181. Arrange the following lengths in their increasing magnitude :
(1) 1 metre
(2) 1 kilometre
(@) 1 millimetre
(4) 1 centimetre
Choose the correct answer from the options given below :

(A) (), 4), (2), (1) (B) (1), (3), 4), (2)

€) Q) @), (1), 2 D) (2), (1), 4), (3)

frafefias oo = wea ofomil § =afem ST .

(1) 1 =R

2) 1 foreinited

(3) 1 it

4) 1 ¥R, |

R g m fawedt § ¥ 9@ s W gE T

(A) (3), (4), (2), (1) - B) @), 3), @), 2

&7-@3), (4), ), (2) D) (2), (1), 4), 3)
182. Arrange the following metals from most reactive to least reactive :

(1) Potassium

2 Gold

(3) Mercury

(4) Zinc

Choose the correct answer from the oﬁtions given below :

(A) (1), 4), 8), 2 (B) (2), (3), (4), (1)

C) (1), (2), 4), (3) D) @), 3), (1), (2

ﬁwﬁrﬁqamgaﬁaﬁmaﬁm-aﬂﬁrmsﬁwﬁmmafmﬁam%mﬁ
wafem wifeg |

(1) Wfimm
2) <&t
3 WE
@) =

’f:}!( T fawedt § § wh W W Wi
Ay (1), 4), 3), (2 (B) (2), (3), (4), (1)

€) (1), (2), @), (3) D) (4), (3), (1), (2)
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183. Consider the following statements -

184.

TB.C. : 24-SS-BCP—C

(1) Sound cannot travel in vacuum

(2) Sound of frequencies less than 20 vibrations per second cannot be detected

by human ear
(3) Unpleasant sounds are called noise
(4) The frequency of sound is expressed in metre per second
Choose the correct answer from the options given below :
(A) (1) and (4) only (B) (1) and (3) only
(C) (2) and (4) only (D) (3) and (4) only
frafafea oA W faar wifsT .
(1) w&fy frafa 4 gefa & & g

@) 20 FT ¥ dhe A w9 gy F @l AHG G T G €

(38) g wfval iR weact €

4) @7 Ft wEft B @R i Aes § o FW €

Y fau U fawedl # | WE SW H g DI

(A) - R (1) 3R (4) (B) “Haw (1) 3R (3)

(CH Faa (2) 3R @) Dyt (3) 3R (4)

Consider the following statements :

(1) The sole of the shoes are treaded to decrease friction

(2) Sliding friction is smaller than static friction

(3) Friction depends on the nature of surfaces in contact

(4) Friction can be increased by using lubricants

Choose the correct answer from the options given below :

(A) (1) and (3) only (B) (1) and (2) only

(C) (2) and (3) only . (D) (2) and (4) only
] EFEFﬁ w faar HifSQ :

(1$s@ﬁﬁﬁmmmﬁmmmm%

(2) udi wfor Wfw o } FH oA ¥

(3)mmmmaﬁﬂﬁwﬁrmﬁ‘hm%

(4) TEFH TN aefop ) WG W1 Gl §

A3 fru g fawed § § WEH IW F I =i

& dam (1) @) (B) #Haa (1) 3 (2)

©) Fa@ (2) G D) Waa (2) AR @)
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185. Match List-1 with List-11 :

11
List-I List

(Vitamin/Mineral) (Symptoms)

Ni) Weakness
(i) Mental disability in children

@) lodine

b)Y  Iron
() Calcium * (iii) Bleeding gums
(@ Vitamin C (iv) ' Tooth decay

Choose the correct answer from the options given below :
@ 0 @© @

(A) @ @ GE) Gv)

® @ 6O G G

C) @) @) @ 6

M @ Gv) @G G

-1 &1 g=-11 | frem #ifsre .

T 11
(feerfim af) (@)
(@) 3E=EH 0 wEe
5). g Gi) w= F AR P
(c) feyram ' (iid) 'q@ N . P
d) faafm ¢ (v) <9 &9

ﬁmmﬁmﬁﬁﬁmwwﬁm:
@ ®) () @

(A) @) @) (id)  (iv)

B) @) ) () (i)

C) Gv) (i) W) @)

D O G G (iiz)
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186. Recently, Indian Space Rege
~—

187.

.188.

arch Organisation has launched weather satellite

MJ&& :

-

(A) PSLV-F53 () GSLV-FI3

(C) PSLV-F59 (D) GSLV-F14

mﬁﬁwmammmﬁﬁmmm—aﬂ.@.mﬂmﬁm
€ ?

(A) 9. W . H.-Th 58 (B) sft. T8 wd. H.-TH 13

(©) ® @ @ R-ww 59 D) St . wW. 9-TF 14
Recently,'Sikkim has started the ‘Inspires’ programme with whose cooperation ?
(A)/ IMF (B) WEF

(C) WB D) WTO

wﬁﬁﬁrﬁw%ﬁmﬁmﬁjm*w%m%?
(4) ST T TH (B) T=9. ¥ UH.
(C) T=4. . (D) =g . 3.

What is the length of recently opened Mumbai Trans Harbour Sea Link ?

(A) 20.8 km (B) 21.8 km

(C) 16.8 km (D) 17.8 km

aof T @ # @@ g ged g EeR i # oo feeh ¥ 2
a) 208 fadt. ‘((?1.3 fepedt.

() 16.8 f& . ) 17.8 f.
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189. Sela tunnel connects the :

(A) Darbuk and Shyok (B) Tezpur and Tawang
(C) Chisumle and Demchok (D) Lahaul and Kinnaur
qo g et §

(A) TREF 9 WS F (B) A9 & W& W

©) fogm 7 T 9 ©) T 3 R w

190. Longe:ent railway tunnel in India exists between the stations :
(A) Khadi and Sumbad (B) Silkyara and Badkot
(C) Banihal and Qazigund (D) Chenani and Nashri
o & R o Y g e v # we fem & 2
(A T=t 9 gee (B) foewam1 3 TSR B 7y
(C)'aﬁmaa%ﬁﬂzis%m m{mama‘:m

191. How many Grand Slam the oldest champion Rohan Bopanna in men’s tennis

have won ?
(A) 16 . (B) 12

(C) 02 (D) 06
7o A # T I i e doen Y et e @ oy ¥ 0
(A) 16 (B) 12

© o2 @) 06
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192. Match List-1 with List-IT .

List-1 List-I1
(Town in News) (State)
(@ Aurangabad (i)  Chhattisgarh
(d)  Ambikapur (ii) Gujrat
(¢) Lothal (iii) Uttar Pradesh
(d) Kushinagar (iv) Maharashtra

Choose the correct answer from the options given below :
| @ B © @

A) @ @ @) G

B) @ @ O )

C) () @) @ )

M @) 6 @) @

-1 # gE-11 3§ faem i -

L) -1
@@ TR) ()
(@ 3mER () o
() iR () TERE
) WG (i) W WA
@ TR (iv) TERTY

#2 fer U fawed § ¥ WH IW F TAE HIC

/dﬁ ®) © @
& () G @) @)

B) @ @) @) @)
€) @) @ 6 G

M Gu) @ G@) @)
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193. Match List-I with List-II :

List-I List-II
(Year) (Nitish Kumar Swaps)
(@) 2013 (i) Dumped RJD, Congress and Left
() 2016 (ii) Back in NDA
(c) 2017 (i) Quit NDA due to Modi’s elevation as
PM face
(d) 2024 | (iv) Fought Bihar poll in alliance with

RJD, Congress and Left
Choose the correct answer from the options given below :
(@ B) @ @
@) @) @ @ 6
@) @ (v @& D)
© @ @) @ G
M @ @ @) )

-1 1 g-11 ¥ fram *ifSg
gl - | Et-11
@) | (T AR T EH-ae)
@ 2013 - ) TR, W T JAR/AW F @M
®) 2015 ’ @ T ud Ay
€ 2017 ' (i) WS W N ) F InfeaR T
| R wRY @A 9
d) 2024 - (v) TR, w9 IR am <o P @y

. TeEwN ¥ fagr
A Ry T frredt & ¥ W I W T W . i
/(a) ® © @ "
@AY @) G) G 6
® O @ G G
© G) G () Go)
@ &) G G Go)
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194.

195.

196.

197.

T.B.C. : 24-SS-BC-P—C

---------------------- is not & member of New Development Bank (as of May, 2024).

(A) Bangladesh (B) UAE

() India M) Qatar

............................ . A BAaule dw # ge@ T ¥ (9, 2024 TF).

(A) TR (B) 7.U3

(©) HRa (D)

The theme of .......ccoeoveevrnviii, (2023) was “Vasudhaiva Kutumbakam” (“One Earth
One Family One Future).

(A) India-East Asia Summit (B) India-ASEAN Summit

(C) India’s G-20 Presidency (D) India’s SCO Presidency
........................ (2023) 1 fawa o1 * g HewT (*TF gt T 9RER TF 9fas) |
(A) va-g@ ufiren fimer a9 (B) WRa-anfear fareR weieH

(€))7 9T F1 G-20 reaew | (D) WRd st SCO 3rener

cieeesseeeseseenn. jOint exercise “Mitra Shakti” was held in Pune in November, 2023.
(A) India-Bangladesh (B) kIndia—Sri Lanka

(C) India-Iran ° (D) India-Thailand _
...................... T oy Cfra i’ FEeR, 2023 ® O # mfea feer man
a0 '

W wwseRa (B) ww-shew

©€) WE-TH (D) ¥IE-9eS

India and Europeati Free Trade Association signed (March 2024) a Trade and
Economic Partnership Agreement (TEPA), which one of the following countries

is not part of the agreement ?

(A) Sweden (B) Norway
(C) Switzerland (D) Liechtenstein

yra AR Zida g OR w9 Y (W 2024) TF SR R ofd i Wi
(mPA)wmmm,ﬁmﬁmﬁ%ﬂmwwmﬁammqﬁ%?

| (A) Gied (B) 4

() fames ) e

03 PTO.



188. According to SIPRI Report (March 2024),

largest arms importer (2019-2023).
(A) India

(C)

Russia

SIPRI R (wrd 2024) & arqEn,

(2019-2023) & gon ¥

(A) v
C) &9

199. The ...
(A) Article 41

(C) Article 51

L

-------------------------

(A) Janvishwas Mobile App

(B) Janmanrega Mobile App

(Maldmt Manrega Mobile App -

(D) Janunnati Mobile App

........................

(A) Janvishwas W g
(C) Jaldoot Manrega Hramse
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(B) US

(D)) China

(D) [

cvssesseneenee. Of Indian Constitution deals with Uniform Civil Code.

(B) Article 44

(D) Article 54

(D) =R 54

is a tool to get feedback on MGNREGA Assets from citizens.

(B) Janmanrega T U
(D) Janunnati WerEg g

94



